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SPACE FOR ROUGH WORK
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Match the items in List I with List II and select the correct answer givén
below: | -

ListI |  ListII

Personal and social .

(a) -Formal Communication - 1.

(b) Informal Communication 2. Directive in nature
(¢ Downward Communication 3. Provides feed back
(d) - Upward Communication 4. . Impersonal

@ b @© @

SO 4 1 2 3
(B 4 1 3 2
©) 1 4 2 3
1 4 3 2

(E) Answer not known

,uﬁq_uqsb I, ulguweé II —mLG&r Qurmss Spsam_aupdledimbg sflwrar eflenauwr
CoipQsB&sey. | |

wgwel ’v uCigwe IT

(a) epwrer Qemity | 1. safluul L wpm sups
(b) gpermaryT QM 2. Quipesuie 2 56,
() “%@G;r_r,rrésé]u_l Qg | 3. é;@g_;r,guasemm mgp‘r&@eﬂg)g
(d) Gue Coréfw Qgminy - 4. gefliulL pepuia &d)sbrg

@ O © @
A 4 1 2 3
B 4 1 3 2
©) 1 4 2 3
D) 1 4 3 2

(E) e Gzfweldeame
3 | CEME/2022
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2.  The type of Operatlons Research’ problem solvmg methodology that can
be used to design distribution network s,

(A)" Queuing theory (B) CPM
Ao Transportation (D) Inventory control
(E) Answer not known '

“Qewed 2.8 pulelwe” (g)eog)uﬁlev o drem pgmGsnsaile LURISH eumeuImDLIL
SLLMO&EGD HIEDISHLD 6T ?

(A) sreqursss Csmun@ (B) 2wiw aufiapenp
(C) Gursgeurss (D) smoransefen ulig sLELUTEH
(B) ofeL Qsfucidme o
3.  For the linear programming problem:
Maximize Z = 3x, + 2x,

Subject to —2x, + 3x2 <9

- x, —5x, 2-20
x,%,20; .‘
The above problem has
| unbounded solution =~ (B) infeasible solution
(C) degenerative solution (D) optimum solution

(E) Answer not known
Qu@m Z =3x, +2x,
oL g —2x, +3x,<9
x, —5x, 2-20
x,%, 20
@55 Crflwe Rrerss Cpréss Gauour_iyparar Sie).
@) adwaupp Siowss (B) snBuiopp Siajser
(C) Aewsps Ereyser D) | 2 &b5 Sieyser
(E) aflenL Qs fwelicrena
CEME/2022 e - o @



4.  Which of the following is independent of sales forecast?"

v

(B)
©)
(D)
(E)

Productivity
Inventory control
Production planning
Production control

Answer not known

1Qeeupeuareupien ellHuenar eTdlTedE SLNSaToNes) 6TEI?

A)
(B)
©
D)

®

2 HuSH Slper
&15GS sL-(Quur( |
2 puSH HLL 1O e

2 pusH s_OUUTEH

efenL_ Glg,rﬂu.:éﬁ]si)mev

5. Annual ordering cost, for a given annual demand

@
®
A O

D)

(E)

- u@BLTHAT earmere] GgTens cTeTLIS! (M LS nsrer Comeiude

@)
®)
©
D)

(E)

Will increase with the decrease in ordering quantity
Will decrease with the decrease in ordering quantity
Will decrease with the increase in ordering quantity
Is independent of ordering quantity

Answer not known

g @amiiHLd laTe| GMDHSTD SHEHOIGLD
Y @aiHib SieTe| GPDHSTD GPDU|LD
g ariiBii siare JfafssTe GOPLD |
e;ci,masuruﬂ@m SlTEEILI Gurrgug,g] LTS
alen Qs weSléreney
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6. The fixed cost for a year is Rs. 8 lakhs variable cost per unit Rs. 40/- and
. the selling price of each unit is Rs. 200/-. If the annual estimated sales is
Rs. 20,00,000/- then the break-even volume is

(A) 2000 - (B) 3000

(C) 3333 ‘/D) 5000

(E) Answer not known

@i aanpsstar Howss Qswe m. 8 el sb. @ CUTGERESTET wrmb Gsoey
m. 40/- gaGeurm Quimersstar edpuemar eloe . 200/-. afliumssuubd
< ar® edpuenar ep. 20,00,000/- erafier 9GS @euen qumaLD ereuaiemey?

(A) 2000 o (B) 3000 |

C) 3333 (D) 5000

(E) ofen Qg,lﬂuaﬂd)md) R

7. If annual usage is 60 units, Vriumber of order per year is 5, then the
ordering quantity is equal to ‘

(A 300
) 12
(C) 5/60

D) 260 o
(E) Answer not known

amLTHET &u(ﬁu.nrra;g,ﬁm cTehTamtlGens 60 pEaD, BbG PeDn @UTHLEET UNkIGLD
BEOLPED (1 aubLSHed @@5@m(8urrg)| @QJQQJIT@ e a_urrmj@m@urrg Qurmefier
TG EESHIITEUF),
A 300
B) 12
(C) 5/60
D) 260
- (B) e Qpfueidame
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'The standard time for ajob is

(A) Total work content
3 Basic time + relaxation time |
(C) Total work content + basic time
‘/@) i Total work content + delay contigency allowance

(E) Answer not known

@@ Geueneouller Sl @pr,rmrrmgj ‘ _ 0& QarenrL_g) |
(A) @Lnrrg,g, C‘éeuana) o Grem_é&& G{_F;I]’LD . |
B)  eigiuem CS;5|1LD + geriiay GByid
| (C) - Qurgs Couame 2 aterL_&& CHID + g e GBI
(D) Qurgs Caume 2 drarL_55 Cpyb + smiog Hlésw lérenio s@iens CHILD
(E) oenL Glg;vlﬂu_laﬁlsvmcu
Lo -
A dlagram showing the path and 1nformat1on followed by men and
materials while performmg a part1cular task is known as
(A) String diagram | -
WD) Flow process chart
(C) Travel chart
(D) Flow diagram
(E) Answer not known

(TI0) @@uém_n Geuanevenws Gl&uuw(%urrgj Caunawim_&6T LoHMILD Qun@n&;aﬂm urras)g,
LoHYID SEIDSE®ET STL_(HLD eUEnLIL-LD GTEueUMT) &m@&&uu@aﬁlmg}? '
(A) &b auETLIL LD | _ |

(B) ¢l Qeweaqpenp aﬁlaié;a;uul_fo

(O)  vwew eflerdsrLLD I

D) el euequLibd

(E)  oferr. Qzfwaiiedena

7 S 'CEME/2022
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10. Ident1fy the formula which helps the conversion between observed tlme

and normal time ~
Performance level of worker

Standard performance level expected |

(A) Observed time = normal time x

Standard performance level expected

~ (B) Normal time = observed tilme.,x : : k
' , , ‘ Performance level of worker

Standard performance level expected
Performance level of worker

| ©) Observed time = normal time x

' L ' ) " Performance level of worker
\/® Normal time = observed time x — , A
. Standard performance level expected

(E) Answer not known

Gr‘rf,g, @g@um a;asm_rj]u_luul_l_ ngum m;pgum Qurgleurer Criybd LDIT[_DQ)QJGS@ &g,eqm ereu
SesTLM.

(A) a;mm_gﬂu_luul_u__@pm Qungmrrsm@pm.ox Ga_lszs)a)u_lrrl_a;aﬂan@&u_leuurr(\

erflitunisasliul L flénags Gaweour®

(B) Qurrgmrrso‘r@;wm a;mrn@u_luuu_ G X g;ﬂrru TigsLIUL L Flepeds QEFUJGDUFFO
o Geuamewim_garl e Q&u.:courr@

C) - 5WL@UJUU|_|_@EM QUWQIQJWGUT@EULDX adiunissliul L fleoess Qewdur®
: . Gsucma)lurn_asaﬂm Qeweéur@®

CGeuameowirt_geflerm Qaweouimr®
adiurissiiucL Heass Qeuourp

D) v‘G]ung,jmnsm@‘mrnbw;mn_@u_Mulg_G‘mmbx

(E) oferL Qs fwellerenay
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"11. The ch1p thickers ratio r is glven by (a— Rake Angle of tool ¢ ‘shear

~angle) , . ’
- cos¢ S 'sin(¢—a')
(A) sin (¢-a) - | ®) cos¢@
- cos(g-a) .‘ e sing
(C) . sina T \/E) cosg—a

(E) Answer not known

eﬂa)gy s UL e9ds () = (a : smiieys Gamewtd @ - pgjé;@& Gamewrid)

| cos¢ - S P sin(¢-a)

@) s1n( a) o - ‘ ® cosg
© cos.(¢—q) R | | | (D), sing
singa : “ - cosg-a

(E) ofenL Qg,rﬂmaﬁ]‘ei)meuv

12, Ajigis a device which X |
'/(A) holds and locates the workpiece and guldes and controls one or
more tools

(B) holds and locates the ‘workpiece, but does not gulde or control the
tool

| © " hold and locates the workpiece during inspection only
(D) | “used to check the accuracy of the job
(E) Answer not known

& Grco'rugd

A). epoLIduUTmener g S&6 LHHILD @@ul_ﬁh_m s &5 LHHID RETY SDDF)
- 2snE CHul L Q@JL_@@ﬂasmm auflsri L wHmib sLOUURSS

B) wouGurmmar Gussd LHYDL GEUALD - SETEWGESD e
Qeu_(eflerw sL_HuBSSTs ‘ : , . o

(O)  <ypisefen Gug papatiQunmeer g 556 HLD SIEOLLITGTLD &TewT

D) Ceamewie pamsssmS SeTedL |

(E) e Qsflueféome

® 9 " CEME/2022
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13. Identify the process which is not suitable for producing gears with high

accuracy

(B)

Gear forming

Gear shaping

(C) Gear hobbing

(D) Gear planing

E) Answer not known

SDEHERTL_cuHMIET | aps  peepuild  LHFEST
Qun(BSSLTESS| eTe SarTL_. i
(A)  upEsEST Qg EITESE

(B) upsssr se@wIGW®

(C) upsssy ;ﬁ@@g,a)

D) upsssT sLSTLEESD

(E) oo Gpfwuaicpeme

2 pusd

FlOLLDTETETES Qup

1‘4.‘. Electro chemical Jet drilling (ECJD) 18 mamly used for drilling holes
having diameter-to- depth rat1o of '

&) 15 | S B) 1:3
‘/ée) 1:12 ’ (D) 1:15 )
(E) Answer not known
- WBler G@J‘éﬂuﬁ]u_lev oSéa gmmuﬁ]@g,a) (ECJD) (l,osm_o @l_uu@w gﬂmm&saﬂm
eN_L 1b/ < pib e9dsLones) : ~
(A)- L5 B 1:3
© 112 I (D) 1:15
(E) aﬁ]ml_Gglﬂu_laﬁlcbma):‘

CEME/2022
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15. In thermi}t welding, heat is generatedby

(A)
(B)
A

D)

E)

combustion of gases

an electric arc

chemical reaction between Aluminium and Iron oxide
supplying high temperature ionised gas '
Answer not known

Qg,rrLSll_ ummmmg,g;sﬁ]eu QauiLiib 2 (HEUTEGLD (PN

@A)
- (B)
(0

(D)
(E)

cumygageflen erflliGermed
e Wengmy ellevadlanmey

Sigiflesflwiid LD[I)QILD Q@Y Pswev® QL Cu gHu@b @U&num Grﬁrr
eflenesmuimed

o wrdeuliublene Sweflwrgsd Qewwiud L eumyederme

AenL Qg Nwelldenen

16. Identify the commonly used binding material in welding electrodes
coating

Py
®)

Sodium silicate
Calcium carbonate

(C) Magnesium oxide

(D) Zirconium dioxide

(E) Answer not known

udD eneuliL L&m@mm g,&a;a;@ Spararueunien Grgj @ULeeuliy QummennsyLy
vwetL(hE g ?

(A) Gamguib AN&EGEL

(B) smeofwbd a;rrr'ru(éam'_

(C) OQusatdwub ysms@

D) aSiCaraflu oL 2 sma@

(E) QQGU)I_ Qgﬂuaﬁl@mw

11 | CEME/2022
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17. Alligatoring is a defect associated with
'(A) Forging process |
(B) Casting process

Qé@) Rolling process
(D) Extrusion process

(E) Answer not known

Alligatoring eranig) croenL e Qg,nx_frl_geml;u Gonur® %@Lb.
) &@é;é;\ Sl 5@ AsiIpaD -

(B) »@Jnr'ré;@d‘) Qswipenm

©) o> Geiigpamn

D) lﬁ]@(ﬁ;@g@&@bﬂ&uﬁ@mgp

(E) edlenL Qg,lﬂuaﬂsbma) '

18. Ina green sand moulding process, uniform ramming leadé to
(A) Imporve porosity
(B) Improve the ﬂowability of molten metal

‘/GC) Provide greater dimensional stability of the casting
(D)  Increase the solidification rate of casting
(E) Answer not known

sowner @Qiss Hraige erg Hifer D S5 wnrrg,g,aﬂev af aEUUg
eremen@euetley

Q) meawgemaranuleanar CubuBs5EDS!

®B) o HEAL Hlevaudd o direm a(ﬁwﬁé;;_’r,ﬁe&r gL L sHaar CobuBS5Eng .,
(C) auriti9en oifls uflwrest Hlaassaemoulmean alphGHDs) |
(D)  arit@er HiiuBsgise Sssms é{ﬁ&;lﬂ&;@m

(E) oSlenL_ Qs Aweddeme

CEME/2022 | 12 - )



-19.  Which one of the followmg is not correct for semi- centr1fual castmg"

A) Itis otherwise called as centrlfuglng
: ‘/-B) \ 'Centnfugal force alone 1s used
(C) = Casting are shaped wholly by the mould core and centrifugal force

(D) Usedto produ_ce Half pipes -
(E) Answer not known \

%lc.'passmt_mrj)@sb eTeneu LIME enlow eevéEs, @Jnfrﬁxﬁ]@ifrﬁ@. Y
| Q) @ser Gauy Quuwit Q&eﬁﬁrﬂggﬂrﬁu o | .
- (B)  eoww aﬁla)és@ afleng LLHCW 2 LGWTsILRSS LRSS

(O) ety gpeewvwurs, oiEs Csmir O @wLw  N0sE aﬁlm&a;aﬂeo‘rrrev
allgeua&sLILGHE DS o

D) @sen apaid ST GPTIsET Q&u_lu_luu@eﬂ,r_r)gﬂ
(E) e Qsflwelicvene

20. In an air cc;ndi_tioning sySte_Sm, thé comfoft'conditions are defined by.
(A) 15°C DBT,90%RH
(B) 25°C DBT,35%RH
(0 20°C DBT, 80%RH P | |
wAP) 22°C DBT,60%RH o o0
- (E) Answer not known ‘
s UgNEA SiEOUIND, ish s aTUDES® aerugl, abs Heaue
(A) 15°C DBT, 90% RH | |
(B) 25°C DBT, 35% RH
~ (C) 20°C DBT, 80% RH
(D)f, 22 °C DBT, “60%>RH
(B) oo Qpfuciioaes

D | | | | 13 R ~ CEME/2022
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- 21. The blades of gas turbine rotor are made of

(A) ‘Carbon steel . (B) Stainless steel
(C) High alloy steel , \/JD) High Nickel alloy
(E)‘ Answer not known V S

oy edesumfider si8 (blades) ersanme 2 FaunsstLRADS?

(A) - st dved ~ (B) év@Liénasiv Giviedd
(©) @5 s sved ? D) w5 Hlése s

(B) oo Qsfweldrenar | |

22. Reheatin‘g' in Rahkine cycle results in
(i) Increases output of the turbine |
(i1) Reduces thermal efficiency of the turbine
(iii) Increases dryness fraction
(iv) Requires more maintenance | o
(A) (); (i1) and (i) | (B) (i) and (iv)
W) () and (i) | | (D)‘ (ii) and (iii)
(E) Answer not known R
Uéirraﬂein (Rankine) 'a;lapﬁ}ﬁuﬂeb 2 _drar mg@@qb’m@ Aeeren neng|
@) &QaﬂuﬁlmQGﬂdﬂuuanLé{ﬁ%rﬂ&aﬂmg B
(1) sadlufen Qaucius Q&u_{ebﬁg)mm G@DEHDS
(11) uELy &wﬁaﬂm@ruﬂmm PN
(iv) ugmofiiy Gg,mmﬁmm cg{%ﬁasrﬂésﬁg)gj |
A)  ©, (1) wppid (iii) (B () wopd (iv)
(©) @) wpgid (iii) (D) () wpmio (i)
(BE) - e QsNweldene : ‘

CEME/2022 S 14




- 23.

24.

In mass transfer, the scherwood number plays the role similarly that of -

the — in heat transfer.
(A) Biot number ) Nuss_elt number
(C) Grashoff number : (D) Prandtl number

(E) Answer not known

Qurr@mrmu) mnmmg,g‘,]a) Qasprrs*a_l_ (scherwood) ereier (l,oa;a%]u_x UG, @Jaﬁla;eﬂg)gj &Gg, :

Gurmev Qe Lorr,rpg)g,ﬁa) WAL LT
(A) LJUJI'IfI._‘ oresor (Biot) ; (B) meev ereir (Nusselt)
(C) &pegapm arar (Grashoff) (D) Gyraimgé» ereir (Prandtl)

(E) | “efleni Qs MNweldene

In a 25 mm diameter tube the pressure drop per meter length is 0.0002
bar at a section where the mean velocity is 24 m/s and the mean specific
heat of the gas is 1.13 KJ/Kg K. Calculate the heat transfer coefficient

(A) 588.5 Wim’K

(B) 508.5 Wm?K | /

(C) 58.85 Wim?K

D) 5.885 WK

- (E) Answer not known

25 1018 A Lib GsnamL Gwmnde, syraf CgQJ5Lb'24’L8/QSI wHmib eumyeden syref
@A L Qaiup 1.13 KJ/Kg K @mé@n. e veduie em Bt fasine
é{@ggym @mpaug 0.0002 umi é;.b@m Qeulius uuﬂLDrrgD;D @msra;g,emg, GSGMT-S;BC;]I_Q.]LD

(A) 5885 Wi’ K
(B) 508.5 Wm?K
(C) 58.85 Wm?K

(D) 5.885 wm?K

" (E) e GzfNwelerene

15 | '~ CEME/2022
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25. Two long parallel surface, Aea‘ch of emissivity 0.7 are maintained at
different temperatures and accordingly have radiation exchange between
them. It is desired to reduce 75% of this radiant heat transfer by
inserting thin parallel shields of equal em1551v1ty (0.7) on both sides.
‘What would be the number of shields? '

(A) Ome (B Two

/(C) Three (D) Four

(E) Answer not known '

Bewr @mamu_lrrm @UGMT@ Cpupliyser gL&Qm e = O 7 g‘,]g)sm o L6 CS@JQJG@JQJ |
sfieide Qeuliuflerosalles meussiLL(HeTerg). @g;em Qe _Cu 2 etar &gl eisflevar
75% sgeisb Gonss Couag Gugib 0.7 o 18ipSper GamerrL LiFLL&EET Qe Qsns
- Gauakrigujeerg. Grg,g,mm SEUFLITLILIEET (Eg;meuuu@u) Grsmumg, a;asvra;£® Qeliwayid.
A gy ' | - (B) Qran(
©) wem - (D) preng
(E) e Qsflwelcrenad ' '

~ 26. The efficiency of a pin fin with insulated tip is

N tanhmlL | : | tanhmlL
A ——— al nintM
W s A
" B ' | . 05
© -mL - | ) (hA/ kp)

- tanhmL | tanhm L

| (E) Answer not known

wenanr STUNLL 2ad ghég saHefar Qewuodper

\ tanhmL N tanhmL
A - B) ———
®) (hAIRD)® o ®) mL
: (C) mL e (D) (hA/kp)O'S.

\tanth , , } tanth
(E) el Qsfwefdene » |

CEME/2022 - 16 - ' o




27. Express the energy equation for incompressible steady flow, with cont.
viscosity, thermal conducting and specific heat when neglible heat
conductlon in x direction

A) ru-£+ aT} a[az—TJ

ox oy 6y2.
(B) uéZ + v- or S 6u
, | Ox oy | \ Oy

[ 8T  aT 2T u (ou)
, ) lu—+v-— =« — [t =
\} | oOx oy 0y~ | pcp \ Oy

Cor oT| (8T T u ((ou} (ou)?
D) |u—+v—|=a 5+—5 [+ — | +|=
| Ox oy | \ox* oy pc, |\ox oy) |

- (E) Answer not known

SW&s Quar, Hlevowner, wrprg umiwb, QauliLé sLggemw, Qeulit ey aﬁ'g,Lb

- H@ID X -uNeSUd SETEBEHUMY LI QaliLié SLSHFISOD GHGG@GD QeuliLs e%g)g)ev

- FLoeTIT(R
2
& [2.97,,.9T_, _a__g
| oy Oy
[ OT T p (au)z
B =X
®) | 6x Y ay Oy
[ or o] [T ou\?
© |uT—tvZ=|=af o [+ (———)
’ | 6x 6y 0y“| pcp \ 0y
‘ - 2 2\ 2 2
- (D) LI T aa€+aZ+” (a_u) +(8_u)
| L ox oy ox“  oy* ) pc, [\ox Oy

(E) aflenL Qg fweddeme

7. | CEME/2022
[Turn over



. 28. When compared to Kaplan turbine, Francis turbine is
- Identify the correct statement \ ‘

‘/A) Having low specific speed
' Having less number of blades
©) .Havmg adJustable vane control mechamsm
(D) Having high specific speed | |
(E) Answer not known

Ugrendlev Lienuemanr Gsliarmerm LienuGenm( @ul_cﬂ@m Qumpg atlﬂu_xrrem aagpgSlmm
Caipts0 ,

(A)  G@peuran e Cousid Qe g

- - (B)  @@pounan éraiur&mﬂé;ma; Bnéms s@damarns QsrarL gl

(C) sRQsLwssmgw Couan s HLILITE QusssEmar e g

D) <fssaGasid QsrairL_g) |

(E) oo Qsflweiicrere -

29. Kaplan turbine i is

(A) An impulse tiirbine

(B) A radial flow impulse turbine -
ACO An axial flow reaction tui‘bine
(D) Aradial flow reaction turblne

E) Answer not known

QaLieTmen afﬂm&turr@ GTETLIG)

(A) 255 eums eflergwmg -

B) spm @l 2 b cums a&]m&u_lrr@

(C) SiEs UL adlielenera| auens eflepswml
(D) s&Hny @L L erdlielenere| auans ellanswimy
| (E) eer Qsflweiiciane '
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30. Which of the following turbine is best suited for operation at part loads?

31.

(A) Pelton wheel
(B) Francis turbine
(C) Propeller turbine

}) Kaplan turbine

Answer not known

SERTLGUDDIET GTHS cueELITET eflewswumfl (Lienuien) UGH Cor FenwEeaner o drar
GLp6dled HpLiLINg enswmEnHLD? -

(A) QuéLén s&5HD

B) Qyrendlev edenswimg

(C)  yrQueei eleswumd

D) Qatiemmer elevswmfl

(B) e Qsflweideame

Water hammer occurs due to a pressure wave in a duct that travels at a
speed ' that of sound speed
(A) Less than
(B) Greater than
wﬁ@) Equal to |
(D) Lesser or greater
(E) Answer not known

B ssHwe flaspey epLuini L @Goruded (P58 SmasenTed gFhLIHib QunQ.pg,j DiGe
FeasGeusbd galluflen HansCoumgsL a @unﬁl@ma;uﬁla)
A) Gopaurs QraEew
- (B S HLOTE QHEGLD
(C) sfawwrs @@5;@[0
(D) ' ‘@mgpmrra; SDaG AF&WNE @) MHEEGLD
(E) & Qsfweldens

19 ~ CEME/2022
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32. Fluidis ﬂowmg with an average velocity of V through a pipe of diameter d.
- Over a length of L The “HEAD LOSS” is given by '

fLV?
hf =
. 2gD
The friction factor f, for laminar flow in terms of Reynolds number (Re)
is

(A) 34/Re " (B) 44/Re
(C) 54/Re - ‘/@) 64/Re
(E) Answer not known

d 9L ib Qameir @GLmil m@mnas v @Gm EIJTI'Efﬂ Gmasggu_eur ereuu: urruéﬂgpgu
L @m Berg i@ G, “seme Gl euphisliuBEDS

_fLv*
f="g gD
Gramev_av erair (Re) i L uam_uﬁlev Caflennit @U_L_sHharar 2 rmiiey a;rrueovﬂ f
©(A) 34Re (B) 44/Re
(C) 54/Re , o (D) 64/Re

(E) oo Qsfueldera

33. For laminar flow in a circular pipe, the friction factor varies inversely
with Reynolds number as the relation

8 | _
@ fege B i
) -8 ®) f=22
x Re | " Re

(E) Answer not known

aJL_L.@JLq.aJ Grnied SG&CsT_ G urieler 2 rmie| sryenfl Gyemmeal. am@mn@
~ Cpiwmprs wrmb Agm_Turerg

8

@ f-gg C® fee
16
© feg o -2

' (E) e Gsflwelievena
- CEME/2022 | 20 | )



34.

35.

36.

In a steady flow of incompressibie fluid as the diameter is doubled‘the
velocity will be , ‘ .

(A) Reduced by 0.5 times (B) Increased by 2 times

(C) . Increased by 4 times \/GD) ‘Decreased by 1/4t: times

(E) Answer not known |
Sipdsifldon Hleaa @L.l_g)g_ﬂev LMD Cleeetd @ggrruﬁlm G)S]L.L_LDITGUTQ] @HLLBISTS
2 wirgstIulLme SlansCeussdled erpu®id Ceumuim(®

A 0.5 Lm_réJ@ GOSN (B) 2 wLruE sfsNsfpg

- (0) 4 w1_niE siHsNsdps) - (D) 1/4tt 101 ra@ geondns
. (B) e Ggflweldeame :

The continuity equation deals with the law of conservation of
(A) Energy o o) Mass |
(C) Momentum - (D) Acceleration

(E) Answer not known

@g,rn__rr&é] UL swerur® £gpasawn_mgpg|m aThg SmuLs Garium e @uq.uum_u_lm
QarehrLg;

A)  <ppd | (B) fep
(C) =pswd | D) »phssd
(E) eflenL_ Qg,lﬂu_laﬂsbma) '

Wh1ch of the following is not the assumption made in the derivation of
Bernoulli’s equation? | _ ’

(A) The flow is steady (B) The flow is incompreésible :
(C) The flow is irrotational \/G)) The flow is real fluid

(E) Answer not known

QuirGanmeiiev &Loayrum_lq_mm aumels@ Cung ahdgsECsndreTng smgGCarer Grgj?

(A Peveowner UL LImILoLD o B a@gg@mmrrg UMb

(C) &LP6 Bl TE LIMILLD (D) @ L umiiob <yensg) 2 e LMILWLD

(E) een Qg,lﬂu_lcﬁlcbm@
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37. A plate 0.025 mm distant from a fixed plate moves at 60 cm/sec and
requires a force of 2N of force per unit area (ie., 2N/m?) to maintain this

speed. The fluid viscosity between the plates is
,/(A) 8.33 x 107 poise (B) 5.43 x 107 poise -
(C) 6.53 x107™* poise (D) 6.78 x 107 poise
(E) Ahswer not knowh
@ Haoawurer sLigd Gnmbs 0.025 mm Gsrewdaid 2 der g6, 60 cm/sec G

BT LHDL @b Caissmsts urmofés em walll LEHEE 2N dlms (Sigreaug!.,
2N/m?) = Gsoalu@dng. sLOs@sEE QoLGu  e2der  fraugdlen

LIM&&SET6n O TGS
(A) 8.33 x 10™* poise (B) 5.43 x 10~* poise
(C) 6.53 x 10~ poise , (D) ‘6.78 x 1074 poise

(E) e Qsfweicoana

38. A pressure of 1m of head of water is equal to
(A) 1bar - (B) 1pascal .
AC) 9.81kilopascal (D) 9.81 bar

(E) Answer not known

Im Blaao L 1b Qarar Slar 2ipssid |

(A) 1lbar | . (B) 1 pascal
© 9.81 kilopascal - (D) 9.81 bar
(E) oo AsRuicidrened |

CEME/2022 | - 22 K



39.. The natural frequency of the transverse vibrations of a uniform -

distributed loaded shaft, having end simply supported is given by

S - Maximum Static deflection

5.613 . | 4.987

A E N ® 75
4.1 C | 3.29

: (C)‘ N : e D) JS

40.

(E) Answer not known

@i &ma upliudul L s Semiq.er @u_leo P TQeuehn ———. Q& s(H
ereflw SMhIE el 2 GTarg) crens Qares. '

8 - eraiLgy) HELIL S Hlooads Newd&d

- v

5.613 4.98
» - O
4.1 —~ 3-29

(E) oo Asfusioma

The ratio of the maximum displacement of the forced vibration to the
deflection due to the static force, is known as '

(A) damping factor / (B) damping co-efficient

(C) logarithmic decrement '/CD) magnification factor

(E) Answer not known '

phssfieler fsuLs @l_u QuwiTa|&E@D Blenaveflensudien aﬁlma_;gﬁrj)@.b
B Cuuwner g ereueumy PGS ?

(A) gewiLiLé smyewf] | (B) seflliys Qs

(O wvwLémsuw GopLiy D) o @muumsss Emyesh

(E) e Osflwueiicvena

23 ' CEME/2022
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41. The total frictional force is independent of of contact
between two surfaces. |

(A the co-efficient o_f friction
(B) the angle of repose
(C) the weight of the body

) the area

(E) Answer not known

@l Quorss Q_IJ'ITU.JQ.]. elenswimeng), @ uuuq&;@ésaﬂmL.Gu_lu_lrrm — =
QuUTMISF QHESTG.
(A) 2 TmlieysQsLy
(B)  GrHuadiiys Camamd
€)  Qunmaiar Hanp
- (D)  Qurmefler AgmLity LiFiLeTey
(E) o QsRweldreve

42. The efficiency of a screw jack is maximum, when (o — helix angle and
¢ - friction angle) '

(A) a=45°+¢/2- | ’ ‘}) a='45o_¢/2
©) a=90°+ ¢ _ (D) o= 90° — o

(E) Answer not known

@ snsflufen QewidS per rLEUT(pg) BSOS QMHEGD?
- (@ ~ Qanedicy Garamd HDID ¢— 2 gmile) Gaeid)
A) a=45°+¢/2  (B) a=45°=¢/2
(C) a=90°+¢ D) a=90°-¢
- (B) oL Gsflusldame

CEME/2022 - 24 o o . @



43,

(B
)

The engine of an aeroplane rotates in clockwise direction when seen
- from the tail end and the aeroplane takes a turn to the left The effect of
- gyroscopic couple an aeroplane willbe =

4)

S

(E)

"To dip the nose and tail

To raise the nose and tail |
To dip the nose and raise the tail

'To raise the nose and dip the tail

Answer not known

T @0 é;ba;rru_l aﬁ]mrrm‘é;@sin GTEIERI6NT Slg BT &gﬁgﬂd) Gurrsii uGSudled QBB LIMTEHE@GLD (Suﬁg,j
&Qwﬁﬂ)g <Gung QL giussons Smblamed, ghu@in &Qwrrasoﬂuﬁlmmmﬁuurrw .

FHuUBLD eflenerey v
(A) - p&E LHOHID T LGS éﬁg,) g,m@m
B)  wpsE wHDID aurd LGHaw Coe gpm@w
(O epbos Epsaral aurduGHew GG 2 wiggd
- (D) apsos Gue o WSS aured u@gﬂmu_l ﬁgpgm@m .
| (E) aﬁlam_ Glg,lﬂu_la‘ila)@»ev | o v _ v /

44,

4

The radius of the friction circle

LD

r

(A) Increases as the load increases ,
B) Increasés as the _rédius of journal increases _
(C) Increases as the speed of the shaft in journal increases-
" Increases as the coefficient of friction increases
(E) Answer not known
2 gmiey euL L gden < TLomeng)
| (A)  seow fsNilen sfafsEn ‘
B) =iEfen 270 &GS T é\@&ilﬂ&@'m ’ ' -
(C) é\q&a; sawriq 61 CausLd é@&;rﬂggnw &Q&rﬂa;@m
(D) egmie Gewsbd é@&;rﬂg,g,rra) é@&;lﬂ&;@m

®

aflen Qg Mwedene

25 | . CEME/2022
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45. The time taken by a ball (of weight 500 mg) to return back to earth, 1f it
1s thrown vertically upwards with a velocity 4.9 m/sec is equal to

@)

A
(©

)
- ®

1/2 sec

1 sec

2 sec

3 sec

Answer not known

e upes (m = 500 mg) Gmm@prra;eﬂ 4.9 m/sec ﬁm&(’éma;g,ej,]su Q&@gé\mnw
Sibs Lbg BB sereow aibsmL QELD GpyLb ereucuanay?

A)
B)
- (©
D)
(E)

| 1/2 eQermg

1 eQemmg

2 eflamg. B

3 eflanmi.

eflen Qgfwelidvene

46. The number of instantaneous centres for a six link mechanism in planar |

‘motion is
A 15
(B) 30 | i
(C) <6
® 6
(E) Answer not known
<Ml @u_lrma;mmeq stifleSsamans Qsman_ g pa;rrmasmme; Gla;rrarm_ ST LOWILID
mmmﬂascm; _ | '
@A 15 - -
(B) 30
(€ <6
(D) 6
(E) efer Qpflweiidoame -

CEME/2022
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-

4T The period of v1brat10n of a pendulum is least at sea level where the
' _lat1tude 18

(A 30°
(B) 45°
- (© 60
WD) 90

- {E) Answer not known |

jcr;_'r,g) ew;a)rrréjﬁgb, earsellen e sidliTeureng SL&® Lo‘LL_gg_ﬂ@ GDDeUNS @@és@b?
@A) 30° |
B) 45°
(C) 60°"
D) 90° |
D)) . afleni Az fweloama

48. Polar moment of Inertia of a hollow circular shaft is equal to ]
n E(p?-a2) B) X (p°-d?
&) 32( })_‘ . - ® 32( -d*)

© Z-¢) e b))

(E) | Answer not known

@@ Qeauppigemaan, giheu sLgiou Sy Hpen

omy 2] | N T (g 3)
A) ,32(1)2--01) (B) 32(Dgal)_
n 4) - | T (n4_ 44
© EZ(D4_0.Z4) ®) §§(D _d)

(E) eﬂml_Qg,rﬂu_laﬂébmév :

® ' 27 ' : CEME/2022
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I 50.

49.

A man of mass 100 kg standing in a suspended cage of mass 25 kg has
arranged to pass rope over a fixed pulley. He pulls the rope with an
acceleration in order to rise. At that time, he exerts an effect1ve Welght of
450N on the cage. Flnd the tension in the strmg |

(A) 450N | (B) 550 N

() 650N | /9) 50N o

(E) Answer not known

100 & éTmLusiTm @meuer 25 & erenLwjerer @v@ Qs miiELD &éib‘flq.é) Bleng Qarem(,
Peowss s19€e sWifioa il Qalg Qaraw@eTerrer. saemrqmer 2 wiSSaSHE

<euan 450N Qewed efenerelenar &g ed Q&@g@é\mnm eretlev, a;uﬁ]m@m 51

QewuBib ellens ereucuare,?

A) - 450 N |
‘® 55N L

(©) 650N

D) 750N '

(E) o&en Gsfweldena

Number of nodes and dlsplacement fields present for serendlplty
element is ' ‘ ' ‘

@) 4,8 B B) 4, 4

SO 816 . Dss

"

CEME/2022

(E) Answer not known

Qayemg Liig. 2 mde, sgmidser wHMD GLUGuuITdtparer Leomsafler aaramilsms

@ 48 .  ®) 4,4
© 81 ®) 88

(E) Qﬁlml_.@g)lﬂu_la‘jlsbe})a) .



f/

51. Which of the following is not assoma"ted W1th Just in Time-

Manufacturmg?
(A) Toyota Motor corporation
(B) Inventory man'égemént |
©) | Minimum warehouse holdlng cost
D) Block chain technology
V(E) | Answer not known
&gpmﬁn_m;m@ Grg,j JIT B551015HDG Qg,rn_r'nﬂlcba).rrg,g?'
(A) QL-_HGQJ L GorlLmi Himieued | |
B) s&rsm Guenerenn .
(O @epis At Gswvay
D) WGerrs Qsulen QsmPHEL LD
(E) eflenL Ogflwelevana

LY
- ®

'(C). Spherical configuration
‘ @) Articulated configuration
() -Answer not known
ép@ STie Hwicn GuﬁUL DG
- A -QE6IeuE SLLewLieL 2 (HeUN&@ELD
T (B)  e@@enurar &L aniolianLl 2 (HaUTEELD
- (C) Gsner @4@&@ sLL UM 2 (BAUMEGSLD
D) (uebgugth @ erer q;FILli_cimf;L\'Jmu‘ 2_(THeUM&@LD
(E) ofeo Gpfweldema

-62. A Cartesian robc»)tj has

Rectangular configuration
Cylindriéal configuration

CEME/2022: ;
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53. ‘No standard manufaétufing plans are stored’, this statement appliéable

‘/fﬁ) - Generative CAPP systems (Bj “Retrievel CAPP systems
(C): Integratlve CAPP systems (D) Variant QAPP systems’
(E) Answer not known ‘ ¥ '

g fw a_gpug,ﬁ QI_L_g,QGnm G&Lﬂg,gj GU)QJLILJQI @61)66)61)' ey eumEAwLID

- Qun@g,g,wrrmg,] .
A 2 @_EGID QIS CAPP ' (B) BSeT cuens CAPPf
(C) @aeeriy euens CAPP D) LDTTQ,I‘QJGU).S’ CAPP

(E) e Gg,nﬂu_lcﬁld}meu

54. Which of the following statement is not true about Machining centre?

" (A) Machining centre is a numerically controlled machine tool capable
of carrying out a wide range of machining functions

* (B) Machining centre reduces setup time, waiting time and
’ , transportatlon tlme between machines -

©) Machlnmg centre is mainly used for batch productlon of main
’ components of a product ‘

. ‘/@) Machining centre is the networking of severa.l CNC machihes to
e carryout specific machlmng functions ‘ :

: (E)' Answer not known

’Gl'pjﬁl]’ Aenar siemoliGie SpsararLabia a5 g,mg]?

A)  apdrefevan SIGDUILITENG], TERTEMIT 85L.®IJLIH’L®  SIELOLIL|L 6T uco('écug)j '
auengwiren 2 Cans B&@ uaflaamen Geliw eudeg).

- (B) eapdr sflanan enliL, SenLiL] Gg,lyu) snsHmLiL (Sjbm.o Qurr@efr a;L_g,g,j'
_ Cryid. %ﬁmmmmm GPD&EEDG. ’ _ . '
- (C)  o® Qurmeilar wsdlu LEHsmar CuLy g_r,u_lmﬂuu Qpcm;puﬂ]cv CSLD;DGIa;rrmGrr
' Gr‘r_sgf,]ueﬁ]mmamwuu 2 565Dy .

(D) apﬁu@ﬁlmm é{@)’)LDLHS]GD ueGeaumy CNC Grpﬁurma;m @mme;&;uul._aﬁla)mm A
(B) oo Asfludidme | | |
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55. Match :

(@) APT | - 1. Production planning
(b) Reprogrammable multifuhctional | 2. Programfniﬁg language
" manipulator : . for NC system |
- (¢ Manufacturing systern - 3. ROBOT |
,  based on multi 6perations R ) o
(d) PFA o »‘ 4. Flexible manufaéturing
~ system

@ ® @ @

@ 1 3. 2 4

® 2 1 4 3
1
3

e

) 2 3 4
D 4, 1 2
(E) Answer not known
- Qurr@g,;ga;: | |
(@ APT | 1. opusd LB
(b) LDQl&F.LGF)LDéi&SILIUL'_L[ ' 2.  NCoienwlLGESTeT
 LOGHTES, MSWITETeLTEN e : ' - sl Lewi Gumgd
- (0 ueelemen &rrﬁ(rjag, 2 HLSH DenoLiL] 3. GynGum_ |
(d pFA = - 4. Qerss 2 puSH ey

@ b © @
@A 1 3 2 4
® 2 1 4 3
© 2 3 4 1

"D 4 1 2 3
(E) | aflent_ @gMweilevenay

@ IR BEI o CEME/2022 -
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56. IGES stands for |
| (A) International Graphics Exchange systefn_
(B)' Intermediate Graphics Exchange system .
~ (C) Initial Geometric Exchange Specification
» ) Initial Graphics Exchange Specification
(E) Answer not known N |
IGES_ - cs_israﬂrﬂmrre%a;@ . v |
A) @an it Cpagare Hymiéev eréavGaansy SlavLLb
(B) - @erit 18 G ﬁgrnﬁ]é;dv-cré;dv@&e&r%g AevL b -
©) @alfuem HeurGr A adaGeang co@LAIICaagem
@) @aNAwuéd SymAsed ardcGaans vALAGCsager
(E) aﬁ]mt.@grﬂu_laﬁ]cbmwi , | |

57. Direction cosine of a-truss element is

~ (x;, ) lx;, y;) are the co-ordinates. L is the length.

XX Y-y Xj+X; Yi+Y¥;

: ! _ ; L | v :

C St 2 b it T
© =7 L R A
(E) Answer not known |

sI&s( 2 piden Hevas Qarensan

‘(xi_, yi)'(x j; y j)-@@ré:ail@auuqa;m. L-gamb | |
| XX Y +Y

A J L’ J 3 ) B

L X tx, ¥i-y; : ) X:—X; \y;+Yy;
C)y L Ji_Ji ‘ : et B BT BRI
© == O ===

(E) e Gsfweldme
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58. ISO 9000 standards are not used for the followmg purpose

@

(B)

©)

WD)
(E)

Internal audit

Vendor assessment
Supplier capability
Resource planning

Answer not known

IS0 9000 g,r;asL@Llun@ SpsarLcupBle rSH(E ~I_l‘-u_16i$rl_|(-l).\‘<$§j@_l‘éﬂ®66)6‘l)

(A)

- ®)
©
D)

(E)

59. Producer’s risk is deﬁned as

Ly
(B)

©

)

(E)

o 6T g,'mﬂé;ma;

eflpuemerwimeri HLIEH

APCUTAILeuen Bper

aerdlin . . |

Qﬁllemn Qg Mlwelerene

Probablhty of rejecting product with some stated des1rab1e quahty |

" Probability of acceptlng product with some stated undesirable .
quality :

Probability of acceptlng product with some stated des1rable quality

'Probablhty of rejecting product with some stated undes1rable

quahty
Answer not known

a_g)ugb'g\u_:rrmrﬂsm QLyneng) ereueummy mmuu.@asa;uu@eﬁg)g?

A)
(B)

®)

()

Grg_f;]rrurrrra;a;uul__l_ g,l}g,gﬂsmm 2 L i amug,;ﬁ LQurpener ;_F;lurra;tﬂas@m ‘rf,lasgpg,a;m
aHiuniésns srsemen o LW 2 HuSAL QUTBeer THEGL Hapssel
rruniésiul L g,ug,@mm 2 LW 2 HusH Qumrmenar FHGLW HlEDSE6,.
G@rrurrrw;&rrg, g,gg@maﬂ 2 LW ag)ugﬁu Gun@mm ﬁurra;rﬂa;@n.o ‘r_ﬂa;rpga;m

“efllenL Qg,rﬂu_:afﬂa)mco |

33.. | . CEME/2022
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60. Certain process has upper control limit (UCL) as 30 mm and lower
control hmlt (LCL) as 18 mm standard deviation of the process is
estimated as 2mm. Calculate the process capability and process
capability index if the process average is considered to be as 24 mm.

@A 1,2 = B) 2,1

A 11 S D22

(E) Answer not known

R 2pusH _meg_r),uﬁlzei'srv Guod &p amquempser wanGu 30 ol BLLr whmb

18 Wleedl B LT @b, PeucydusH epepudan gearaflu. eueruep 2 Wl Blii

%G Qeuaypusd erpuler syrefwunang 24 e BLL s, 35 @@mg)uggl
peopulier Spaubd, LHHD SP@IES LD eeuauera|? | .

@ L2 ®) 2,1
© 1,1 | . D) 22

(B) e AsMuiclicrenss R

61. An automatic screw machine turns out round head bolts with a speciﬁed

‘ shank diameter of 9.00 + 0.04 mm. The process has been operating in
control at an estimated mean of 9. 00 mm and standard dev1at10n of
0.005 mm. Compute process capability index.

@A) 0.9 | o (B) 1.2

(© 156 - D) 266

(E) Answer not known

R g,rrasﬂmmél HwG @wg,ﬁu‘mna@ 900+ 0.04 5.8 aSh_LLo gm'r(b\ 2 L
sissTafismer 2 HuSH Qelifps. QEQsLd papwurang, ssTafls Seamg.en e L
ggnefl - 9.00 A.Sseyd wHpmd HL  eAassn 0.005 LﬂLBa;mLo o @Teng). -
QeueTEsEHDET SM_g.oWw SaTEHHS.

A) 0.9 - (B) 1.2 - |
(C) 1.56 S | (D) 2.66 | .
(E) = oo Gsfluicfdene |
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62. Bonded strain gauges are

@

®)
O
SO
(E)

exclusively used for construction of transducers

exclusively used for stress analysis

used for both stress analysis and for construction of transducers -

used for pressure measurement

Answer not known

urerLL eolCmiien Cagy eremig) ,

A).

- (B)
©

D

B)

g FTeGvLe W FT QelicusHE Lol_®u3 uu_lmu@g,g;uu@eﬂmmg

oLGrev <16 Q&u_lmg,gp@ 9rsCuisions uu.umu@gg,uu@aﬂmg)gj

m)l_Gu;er <6 G]&u.l@Jg;gp@LD l4 PTGl LLET G]&u.nmg,rp@m

- vweruBdsLuhlemg.

SI(WSsib SienellL LLETLHSSILG TS,
eflenL_ Agflwefdrena

- 63. '»Ga-'uge_blocks are used for measurement of lehgth

@)
)

D)

(E)

(4)

| (B)'_

L ©
(D)
©®)

greater than 200 mm
greater than 1 m
less than 200 mm

,lesé than 1 mm

Answer not known

éqcrreﬁleurrm ﬁmg,mg, SfeTefl &m@ﬁ@ 85L..QDI_ uumu@eﬂmg

: 200 mm as@ CSum)

1m s 5@ Goe

200 mm s &p

1Immé&g&p
:QS]GDI_ Qg fwellcreney

35

CEME/2022

[Turn over



64. An LVDT works on the principle of

A
S ®

L ©
)
®)

Mutual inductance
Mutual 'c‘apaci!;a.nce
Mutual resistance
Magnetic induction

Answer not known

@@ LVDT apg Cam_um g @u.m‘u@éimg? |

@
®)
©
(D)
(®)

L4

uflwrhp grewr e Camum®
ufwrpHp QaErarnd Csrur®
a@ﬁquﬁmm (Sa;m‘_ur@

&Mhg ghewre Carun®

eflenL Qg flwelicveney

65. The output of pirani gaugeis a"-

A)

s
©
D)

(B)

‘Voltage

Displacement

Resistance change

Capacitance change

Answer not known

Qe @m@ﬁluﬁl@'n Q@mﬂ.ﬁ@ SIATEY GTETLIS]

A)
(B)
©

- D)

| _(E)

CEME/2022

@LuCuwirss) seray

erélirLiy ommuiTLerey
Bnangssid |
BlenCs&s e wmmyLr®
gy Qg,rﬂuaﬁlcli)meu |
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~66. - Gear tooth vernier is used to measure

()

. ®

AO)

D)

®)

gear tooth profile
gear tooth thickness \ B
Pitch line thickness of gear tooth .
Addendum and dedendum

Answer not known

: ‘ugbéé;a;u ua) Qaufraflwi lerell Heugy

®
(B)

o ©
(D)
®

u g’)&é;asu U g')aserﬂsiﬁ' ué;aags Ggromid
ugp&ase;n)' B ;pa;aﬂm B4 L0GHT

UDEESET ug_r)asefﬂso'r g,lq.m@ﬂm a;lagg)eﬂuuetraﬂ CSa;rr@

. '&L_Ql_swn_m LHOILD _Iq.QLWLm ‘

v aﬁ]sm_ Qg,lﬂu_xaﬂd)mm

- 67. ‘».-Optlcal gauge Works on the prlnc1ple of

Y]

D)
(C)
D)

E)

Reﬂectmn |

Interferrence of 11ght rays
Refraction |
Polarlzatlon"} |

Answer not known S

aafl CSasg Gouaa Q&UJlLlLD Qasrrsfrsma;

'(A)

®
©
®)

(E)

aﬁ@umﬂuu /
paflssgln 935&&'@@15';;&%@ '
afﬂeué;anb | |

gafl peraray

AL Qg,mmﬂ@mm

87
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68 If the actual value is 0 8597 and approx1mate value 1s O 85 find the.
relatlve error . o '

o A 0.112-
V. E
© -0.112
(D) 0.0097
(E)  Answer not known’

: .@@ Qurr@aﬂan &rﬂu_lrrco‘r iy 0.85697. é{g,eur CSgsrrmru_l 0L 085 Greoﬂco S\H60N |
Gg,rn,.rrurrm Slepyp reuauaTey? ’ ‘

A) - 0.112
- ® 0011
" (© -0112

D) 0.0097 |
- (E)- aﬁ]m;@g,rﬂu__léﬁld)@m‘

i

69. PVC sheets are p’r‘oduced‘ by
- (A) Melt spinning process
(B " Injection molding process
: \/(C) Calendering process
(D) Roto molding process
(E) Answer not known
lﬂaﬁleﬂ STeTSHeT Grgé'r epeLLD g;bug‘a_f,] G&ﬁbﬂu@ﬁmg?
(A 2@ pipy Qswdgop
. (B) 2a18) Gillg QUIGDSSD Q&wc’v@mgp .
© 'a;rr'Qa)c&srt_rﬂréi»Q&uqd)@mg; |
D) GymGur CSyLorrebxq_ré]Q&u.mi)@m;D
() deuagfuddms |

CEMEZ022 . % o




70 An ion displaced from the latt1ce into an 1nterst1t1al s1te 18 called

A) Schotty defect
(B) Line defect
(6} Volume defect‘ |
D) Frenkel defect .
. (B) AnSWer not known
@@ amﬂa;(%a;rrmmuﬁlw 2 eirer équ_letﬂuﬂlmrra) @ml__@maﬂ SerHEc0 qmu@m Long)g)g,mg;.
GTETEITLD > .

(A) Gosin. & @a@pun(p '
- (B) af GOPUTH
(©) Clg,‘rkr@ﬁ‘@epmurr@
D) LIFrenaen @Gog)urr(g |
(E) ofenr Glg,rﬂu_loﬁld)ma)l_ i

71. - The crystal structure of an alpha -iron 1s \‘ - : anvd'it has
' property ‘ ' ' :
(A)  Simple cubic, ferromagnetlc
(B) face centered cub1c paramagnet1c
) body centered cubic, ferromagnetic
| (D) close packed hexagonal paramagnet1c
(E) . Answer not known

S OUT @HdIAaT Ligs é{mmuurrezr@] — — %asmtb; 215!
vemdenen QuppiaTarg. T .

A) 5|7rrarrasarr FSIID, QoY snhs |

(B) Qpasuu ‘Lol a;sm&gwm @Gmm &MHs

(C)  Qunmer oWl saTEzITD, @HOLY STHS

(D) Glg_r;@meﬂ Qurdlbs O‘Ngrsj@a;rrsmm @mam‘ SMHS

(E) -'_amm._og,rﬂmmmmm | -

' : ‘ "[Turn over



The medium not su1tab1e for quenchmg process 1s. |
(A) | Coldwater Hot water .
‘ (B) Mmeral 011 Anlmal oil | .

X o ‘/QG) 3 | Calcium carbonate Calcmm Slhcate

(D) Caustic Soda, Brme '

(E) ,Answer' not k’nown

e%gpa;a;rrmumg);ﬂa) TG gmﬂas@m Qurr@m @a)emo? i
Q)  @afli b, Qaubbi ‘ | :
(B) saflo cramQani, efleri(s; Grmsr(amm .

(O Ssrrebélu_ub asrrr'r(gurr@am_'_', sreAub é]c&éé@asl;
(D) | Grrﬂ(%&m__rr &eurrf}rr
(E) eofer G\g,ﬂma‘jlevemu |

- 73. The Hardness testlng method Wthh does not 1nv01ve res1stance to
plastic deformatlon 1S ' » :

| ‘/@A) 'S’hore,Scler_scope |
~ (B) Brinell
(C) Rockwell
D) Vickers
(E)» Answei' not knew'n

. lfﬂGlTTTGTDI.q.&S eﬂmg,ma;@ Grglrrusmu a_mml_a;asrrg, aslq_mg,g,mmm G&rrg,mm (y)amp Grszsrug

(A) | au(%&rrrr cm@a;evrrao(%a;rru

- (B) LﬁhﬂQGzﬂm ‘
| (C) ~ Urr&;@@_lsu '
(D) A&Qsiey

(B) e Gsfudidm

CEMER022 4 - o



| 74 Durlng per1tectlc sohdlflcatlon one 11qu1d ,
,;(A) Combines with one solid to form a second new sohd |
Solidifies into two different solids |
(C) Formsonesolid |
(D) Forms one solid and another liquid
(E) 'fAnswer not known

QurﬂQI_aslq_a; éll__uu@gg;sﬁ]m CSurrg R QU@JLD 7 _ ‘
A oo Sz o @oanps Qram_naug U & l—uﬁuﬂ@mm 9—@@1"85@69%1
B) @uaw( Qeueu@eugu HLuQunperrs QLuu@g@aﬂmg | |
© owHswsmaurscips - |
D) | e@ Ssosub LHGAPTH vaﬁmﬁuw &@@Jﬂﬁ@aﬂm@

_ (E) - eflenL Qg,rﬂmaﬁ]evmw ' '

’ 7 5. The iron carbbn diagram and TTT curves ara'détermined under ‘
‘/éA) Equlhbrlum and non equﬂlbrlum conditions respectlvely
(B) ‘Non equ1hbr1um and equlhbrlum condltlons respectlvely
E ) Equlllbrlum conditions for both
(D) Non equ111br1um cond1t1ons for both
(E) Answer not known ' S
A g @@‘qu gitirLien @Jmum_Lb . LD[j)QILb lq.Lq.I.q. | vmmm@]asdr ; é?gja;'eém_umr-
ﬁrrmrrasﬂasasuu@eﬂmmm _ o N o | .
A &LD‘If)IGU)GO LD;DQJLD &Lo@msuug)gp Hlevaser @mm@u_l |
| (B) s HamaupD wHHID 6‘L9,rfﬂmv Hevavsar @omm@w |
- (©) @@m@é@m'&m@mm ﬁlemi)mma;dr : |
D) Gaeised sofoaupn foomoss
(E) Vaﬁ]am_ Qgrﬂu_lafﬂsvma) o ' '

®© o oa " CEME/2022
‘ | o ' | B [Turn over



76. If the number of cofnponénts in the system is 2 and the number of

phases are 2, then the number of degrees of freedom possessed by a -

system 1is,
. @» o
D 2
O 4
® 1

(E) AnsWer not known

. iU 2 drer emg;uasaﬂm craRTanilEens 2 s LHMID &L hisafler GTGmeﬂasmas B
L2 yse|d @QmBSTY, DibBS g;{@»u)uq ngpgﬂ@a;@u) &g,(r_r;ﬁug,ﬁm &mma;aﬂm

GTEUT 600t 166 UL TGN
@A o |
® 2
T (©C) 4
@ 1 , L
(E) laﬂm;Qgﬁ]umﬂd)mm}‘ _ r’

'y
S ®
- (©)
m O

e (E)

!

77. ‘}Decreasing grain size in a polybrystalline material
Increases yield strength and corrosion resistance

‘Decreases yield strength and corrosion resistance

Decreases yield strength but increase corrosion resistance
Increases: y1e1d strength but decreases corrosion res1stance

Answer not known

| v@@.uneﬁlaﬂﬂdunaﬂe%r Qun@aﬂd) 'é_r,rrdﬂuJ STDaE GPDSSD

@)
(B)

©)

D))
(®)

CEME/2022

&G Guéﬂabm Logi)g]Lb <ifiiiy arfliienu é!ﬁasrﬂé;a‘s]‘mg

L& G6D @J@S]mm LHMILD éuﬂuu Gr‘é,]rrumua; @mmaseﬁmg | ,
Loa.:.@co cucllentoenwid @mma;aﬂg)g,j <2}, TMED é{lﬂl_lLl Grg‘,]rrumu &Qa;rﬂaseﬂgpg
Loa;@ev asllawmu SFsNEHns e arﬂuu G@numuas @mgpa;aﬂg)g
eflenL_ Qg,rﬂu@ﬁ]svcmo B

o | o . q’),’




7 8. The process 1nvolv1ng the heatlng of steel above the upper crltlcal
' temperature and holding there for a stipulated time and then allowing it
to cool slowly in: the furnace itself is known as - -

\/@r) Annealing
(B) Normalising
(C) Tempering
- (D) Hardening \
| (E) AnSwer not known
N (T 6To oa‘,]a»m 2 Wi 2.4 Qautiuflenavs; ¢ CSLoev @l_rr&;aﬂ éqrm@a;CSuJ C?»urrg,]mrrm é{@ﬂ@ﬁ]m@'
‘ - aissl Yeir 2 @audGaGuw legjeurres @aﬂn@ﬁ]a@m @mgpuﬁ]m Quu_lrr ,
(A usempps® - B
(B) OGpfuu@sssed
(C) QsbusLrssd '
D) suoriusEs
E) aﬂml_Qgiﬂu_laﬁjsbmm |

79. Thermal rexpansien of materials arises from
(A)" Strong bonds - | ST
(B) Weakbonds
©) Thermal v1brat10ns |
./6*)) Asymmetry of potentlal energy curve | ;
(E) ,Answernotknown TR S S | 1

a@mrra;ma;mﬂm QeuliLs aﬁhﬂsurra;a;m G@G\S\@pjg Gr@éﬂmg]

o (A) m@lmnmlﬁlmmuqasm

B) ua)eﬁemmrrm ﬂmawruqa;m. v

(©) Qe ifliTasar | | 5 _
(D) &ng;ﬁu.mrrm < HOD mmm@ﬁlm &Loaﬁlm)g_r) g,mmm :
(E) el Qg,rﬂu.t@ﬁlsomm '

' | s  CEME/2022
- , S ‘ | : SRR [Turn over



- 80. During throttling of a gas, which is havin'g hegative Joule Thompson |
' coefficient (u<0), What will happen on the temperature of gas?

A)

o
SR (0))

()
()

Decreases . S
Increases '
Remains constant’

| Either decrease or increase ‘depends on Gibb’s function -
Answer not known E '
erlroapuiren g@a) FTDFE @mra;m (u <0) Qsrer @@ eumuy, g,(%lyrn_lq.co

Qediutiu@bGurs e;\{;_r,m Qmuu;ﬁlmw creTTaTeLTa; @@a;@m?

».

- ®
©

NN
(E)

G®pYD R R
RS SE TG ' ' R

<G5 Qeuuu;ﬂma)uﬁla) @@5@1.0
a%lusm Q&u_lana) Qurrgug,g,j @aﬂrr&élu_lrras(‘émrr e]a)a)gg Qmuumrras@wrr @@a;@m
eflenL Glgrﬂu_laﬁla)mev | O

81. Choose the correct answer:

lm

(A). .

[)
(E)

,&lﬂu_lrrm Ldaes @g,rrg_r,@g,@a;a;a{m -

A

©)

D)
()

CEME/2022

The slope of the vapour1sat1on curve is always negative for all pure_
substances : ‘ : :

The slope of the vapour1sat10n curve is always pos1t1ve for all pure

- substances

The slope of the subhmatmn curve - is negat1ve for all ‘pure

substances - .
The slope of the fusion curve for water is pos1t1ve
Answer not known

\

DIPETHS gnu.:@urr@l_esaﬂm ctg_l,csﬁlu_lrr,a_r,ésu euml;ruﬁleo 2 e &lﬂeq /Gru@urrgno

o Grﬁrrmmrra; B®EGLD. . .
- SMATSF)| g,nu.»@urr@l_asaﬂan e;ba&lmrrg,co mmuuﬁla) 2 arer a=rﬂa.| GruCSurrgjLo o
Cpiwowrs Q@meen . :

GTEIGVIT WL Qun@n_a;@a;@mrrm ugrmasmrrg;a) euanuufﬂa) 2 _@iTer 8=FFU_I614 Grélrrmwrra; '
BmssL EARR

g,eourm‘?@e;&rrm 2 (h@& alanuuﬂlcu o cierr &rnueu CB;r;.rrmLona; @@5@m
Qﬁlam_ Glg,rﬂu_laﬁla)ma) ‘

BT SRR R




82

h Match List I and List II and select the correct answer us1ng the codes )
_given below. . -
LastI -  List II | ’
 (a) Critical Point " 1. All the 3 phases sohd hqu1d and vapour
P ' Co-exists in equilibrium

-~ (b) Sublimation 2. Properties of saturated liquid and saturated

| . | | ~ vapour are identical . ,
(¢) Triple Point . 3. Heating process Where solid gets directly
- Lo - transformed to gaseous phase ' :

@ b ©

(A 3 2 1
@ 2 1 3
© 3 1 2
W) 2 3 1

(E) Answer not known

‘LJL_I.q_u_lGl) I wpmib uiigwe IT gu Qurpisd Ga;rr@asasuul_l_ @@uﬁ@a;somu uumu@g;ﬁ ‘
, Erﬂu_marr sﬁlmL_mu_ng, Gg,rr;r;@g;@a;a;mm | . ,

o |_I|_Lq.UJGl)I a Sl e L 1g w6 II
(a) wryfleownyeel A, Syeu, aumy %eﬂu_l QLPEIT) ;Elmeumma;@m‘ |
"~ (critical point) R swhleneufe e_|_66ﬂu_|co|_| (co-existance)
S o ‘ y Qa;rrmeﬂmgpaﬂ o~
(b) USBISOIGD | 2. Pepeydm Biwb  wHHID %@5‘ @ucmq.sm
v ‘ ' V g;evremma;@ua genprélemper.
() pbemwiiere 3. Qanuu@ssder  Gurg AL liQunmer

| Crrigwins e flewawu o dpg
| @ ® © | SRS
'(A)3 21 B R
® 2 1 -3 : .~
© 3 1 2
"D) 2 3 1
(E)  oferr: OgRweidana

‘s CEMER022
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- 83. What 1s the molecular weight (approximate) for the gas Whose spe01f1c
~ heats are as follows Cp'—]. 967 KJ/Kg K Cv=1.507 KJ/Kg K

(A) 0.4
B 18
(© 83143
D) 1.8
(E) 'Answer not known

Co= 1967 KJ/Kg-K wpgin Cv =1. 507 KJ/KgK g,m@muuma;m Qamemrt_
: o.nrru.m.‘ﬂm (y)a)asemgu GTemL_ (CSg,rrlyrru_JLorra;) Gmrrso‘r’? T
A 04 '
® 18 -
(C) 8.3143
- O 18
(B) e Gsfusiomn

 84. The efflclency of carnot cycle may be- equal to which of the followmg cycle
when running between same temperature limits.

(A) Rankme cycle -
\/B), ‘Stlrhng cycle
Brayton cyclée
(D) Ottocycle
(E) | Answer not known
s &Qmeﬂuﬁlm Q&u_lsuﬁmm @I_L‘Q')QGBT Qmuu{_ﬁlma) G)JI',TLDL]GSGIT @mmrra; @@5@1.0
- Gurg Epaam ahs &Qmeﬂuﬁlm Q&wwﬁm@eﬁ@ &DLOMS @@a;@m '
| (A) Rankine a;%pg)eﬂ SN |
- (B) Stirling sipp8 o
- (C) Brayton a@,rbél
(D) Otto sppa -
(E) eflenL GgNwededame

' CEME/?2022 . B
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85 When a gas is heated accordlng to PV Constant the process w111 be

3

o called as
SR ) Hyperbolio" )
~ (B) Polytropic
(C) .Free expa'nsion
D) Adiabai'ﬁio"process '
(E) Answer not known

@l HLpS&EIMD.

@A)

- (B)

©

)
C®

86. Inan
®
W
©
D)
(B

@apLILTLITells
urfsﬂ:;';.ﬁ'm%;f_ﬂé.

Sl el feun&sd

SIquUm_ig s Qe

aﬁ]om_ Az fweildvene ,}

saturated air, the state of a vapour is

‘Super heated

Saturated
Unsaturated

Answer not known

: ﬁmmmm@ a;rrg)@a) agoaﬁluﬂm ﬁmwmrremg

@

®
©)
®)
(E)

-y Hewe> (Wet)
‘@i Qautiu pﬂmm (super heated)
- .'516"&’@4@@1 5"666[!\-Iu®m o

ﬁlmmmmnmm SreRTlILHW -

efllenL Qgplﬂuoﬁ]@mm

@ mrru.m.ursmgj PV = C GTenm CSa;rn_um_Lq_a) Qmuuuu@g,gﬂw @ungj éipg, Qevicom,

' CEME/2022

[Turn over




87. . The change ‘of entropy'is Zero during the
A) ,Hyperbblic proéess -

- (B) CQnstént pressure process
A /) Isentropic process
D) Polyti'Opic, process

| (E) , 'A_IisWe‘r not known |

| R erer_ Grma Lorr,r_i)g)g.é,leb'r Loﬁﬁq lc_bgu_‘l»LbfGrGGﬂé), ABBE QFwDpenD

(A ma_ngﬁﬁ@ﬁneﬂé;‘Q&Léo@mm

:"(C)v QFWM-GUWIQ;Q&UJ@;@WD -
o (D) Qvﬁé&quﬁuﬁje}z.@ag@@m‘m S
V(E) @S]ml—anlﬂu_laﬁlgi)mw‘ |

 CEME/2022 48




'88. The absolute zero pressure will be

t

‘) ‘When molecular momentum of the system becomes zero
(B) At sealevel |
(C) At temperature of 273 K
(D) Under vaccum conditions
(E) Answer not known

PQ@LUDD YR SGEHOTETE, |

A) WTEAG@GMT (PELOETLLD LLBRUILDTS o erenGuIng)
B) s wlgHd

(C) —273 K Qauiuflene 2 erer Guing

(D) Qapdl fowudd

(E) oo GzMusiéens N B o

- 89, An ideal gas at 27°C is heated isobarically (P = C) till the volume

becomes 2 times. The temperature of the gas will then be
A) 600°C | | - S

- (B) 627°C i

(C) 54°C

B 32rC

(E) Answer hot known )

Y 5@5@@@ amy 27°C Qautiuflenaoufed o GTang). (rf;]@aimrr'sm S(P55E AsLdWPOD

P = O wob <ps amny gag Osmerare @Qrigliungh  cumsuier
Qeulinior&sLGEHDS Tl SibS aumyeder Qauiuflened DG Spsar_ wHliemu
L Epg). e co

(A 600°C
(B) 627°C

" (C) 54°C -
® 327°C

(E) oL Ozflweidma

49 , - - CEME/2022

{Turn over



90. For prdper meshing of the worm and worm wheel, the axial pitch of
worm composed W1th mrcular pitch of worm wheel should be

(A) More |
. ) Equal |
~ (C) Less | " ;

(D) Unpredictable
(E) A'riswer not known '

&Iﬂu_erGDT @mmuu QamarL Q@@ Logpguo gl@@& &a;a;uma;aﬂm g,]@@ DE5
qrﬂuﬂ]ml__u_‘ﬂa) g‘,]@@ shahisafien aumene) qlﬂuﬁlml_u_lrremg,j

B efsbd
(B) swb |
C) oy

D) Siworefss apigwnsg
(E) elen QsMwedérenas \

91. If ‘V’ shear force, I, moment of Inertla Q first moment, b width, then the
induced shear stress will be

\/eA) VQ/Ib

IbVQ | . . | » -
(C) vbQ | R
D) IQVb | » | -

E) AnSwer 'not known

@@ Gurmeia V, Bi&s elens, I 2 pip Hmiiyenio Q WPSD- g‘,]@uqcmm b i arafld
SiFe FHLILD BNES g,ma;eu eTeuGUaTaY? v
@A) vQIb
®) IbVQ

~(© VvuIQ
D) IQ/Vb
(E) e Qsfiefcrenad

CEME/2022 ’ | 50 S o 9



92 The veloclty ratio of two pulleys connected by on open belt is

. (A) dlrectly proportlonal to.their diameters
: ‘/B) Inversely proportmnal to.their diameters
(C) directly proportional to the square of their diameters
(D) Inversely vpropotional to the square of their diametérs '
' (E) Answer not known L | - |
Qwm s s6r Sops Ll eLsarTe GmanssUuT (b G&mmu@m&uﬂm SIG6 Qm&@eﬁa;
gD g o
(A) (Sgr;rr aﬁlﬁg,n&rrug,@a) sr9safer aﬁh_l_.rmasmm QUITBSSS)
B) g,mw&g aﬁ\eﬂg,rr&rrugﬁco sL9saRar el L fiseer Gurr@g;g,g - ,
© C855|T Gﬁleﬁlgrr&rrug,ﬁeo sL19gaf 6 aﬁh_umesefﬂm a_lrra;&;g_r,mgs Qun@gg,g,] '
(D) : g;cmv&‘.p aﬂélg,n&nug,@m s gafler aﬁh__L_rﬁja;Grﬂm Gurra;a;g,mg; QurwHSSS
(E) |

| Qﬁlale_ Qaflwelidrana

' 93. In V-belt drive, the V-belt touches

A)

B
©

D)
- (B)

both at bottom and sides of the V-pulley o

at bottom of the V-pulley
at sides only of the V-pulley

not directly with the V-pulléy

Answer not known

V- ux'_em_étﬁsgj‘é‘,g,g@d)'v- UL _epLwireng|

@)

(B)

o

(D)
(E)

V- 2 maverulien Sig ol Lgeng GsTHLD

V- &@mmuﬁ\&r ué;&a.lrrl_ilq.mafr b AgTHL

V- a@mﬁuﬁldr.aqml'_ub LoHID LIGSEUTL g e Qg’rr@lb
V- 2 manerudéd Cpyig s QgL g |

efllenL dg,lﬂ u.taﬁls'\)@m '
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94.. When the bearmg is subjected to large ﬂuctuatmns of load and heavy
impacts. The bearing characteristic number should be ~
‘times the bearing modulus. '

@ 5 . B) 10
) 15 - (D20
(E) Answer not known

R ST &@mmmrrangu W& cﬂg‘,]a;u)rrm Lorrgggua;@_ul_l__ oSlans Logpg)jm a;mn.orrm Slef
Gunger Blswn Curgy bs g,rrraxéilu&lm (&ERTHEVEDT Grasuramrrgj SIS @masg,gl_m
Qsrerr(Berer eNSHD ————— o @Lb.

@A 5 R (B) 10
© s - (D20,
(E) aflenL. Qg Mweldene |

95. Two close coiled helical springs with stiffness K, and K, respectively
are connected in series. The stiffness of an equivalent spring is given by

K,-K, ‘ K, - K,

. Sntnd Sikaind 2 . B) =12
./(A). KK, = ‘()‘K1+.Kz
‘ K, +K ' K. +K
Q) 1 2 IR 1 2

/ ( ) ‘KI—KZ ) ’ : ) (D) Kl‘Kz

(E) Answer not known" | - \

@re® epigw F(HET GenarL smer euawr el aﬁlmgpuq Kl wpmitd Ky . siemeu -

Qramr@Hn Asmgrs @mm&;a;uul_®mmg,j Siciamy G@amEsILL L Fnme adld

ameflen aller efepmLiL| eremmenm .
K,-K K=K
A ] T2 _ : B 1 2
. K +K, | o Ki+K
C 2172 D 1 752
o P ® et

(E) o&en Qg,rﬂu.;aﬁ]soma)
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96.

97,

shafts are used when the torque} to be transmitted 1is

large in proportion to the size of the shaft in sliding gear transmission
(A) Hollow shaft ‘ﬂ) Splined shaft
(C) Stepped shaft D . (D) Keyed shaft
- (E) Answer not known . -
~ sffley LDEESTS sLGFeole, g,m@aﬁ\m 2laTey G}Sﬂﬁg,&mg,ﬁm@ FgHmaumm) ep@amm
H(m&ESLD, — — gam(HEemar LweuRSSIbCUTg a;L_g,guu(Béélg_r)gj
A G g,é%vr@a;eir . | (B) Lﬁlgrma;rrug, ST (RGET
(C)  ughoas smHser N (D) &rraﬁ]u.‘th.uun_L_g, gaw(Hsar
(E). aﬁlml_ﬂg,lﬂu_leﬂc’omm ) | |
‘The loop stress in a thin cylinder of d1ameter ‘d’ and th1ckness ‘v
'subjected to pressure p w111 be
. od
@ Pi
- ® Y
.  2pd/ '
A0 .p/4t
2pd
o Y
. : . {
(E) Answer not known
i &AL (d) wpmb suoe (2) Qesrram'n_ Quodellu 2 maauTang), a@ggm (p) Qe
2 LIHESLUUBL CSurrgj e;rg)u@u: QJGG)GTTUJ§ SEEENLO
o pd
@ Py,
® Py
\ 2pd/
© R
(D) Zpﬁy = o B
(E) e Gg,rﬂu_leﬁlcuma) A ' -
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987 A cantilev‘er beam of length ‘I carries'a. umformly"dlstrlbuted l6ad of ‘w

99.

@ e ® Y

kg/m for the entlre length of beam. The shear force at the free end will
' be ‘

w12

wl'

© % . /g)) zero‘

(E) Answer not known . - o - v

@ Caamg ey f}mmrrmg Bemd 7 Log)guu: ‘w kg/m erenm &evLoenw (Ap(pBarddlen .
Q&gug,gm Gung, Sbler Qeur Beleng ARl apananis9e ereueuarey?

@ wo (B)ﬂz’i :
© % O uguw |

(E) oo GsAucidme

A compressive member always tends to buckle -
(A) In the direction of axis of load
(B) At the ' minimum cross-section

\,66) At the least radius of gyration

(D) Perpendicular to the axis of load
(E) Answer not known

@ @gasa; &guuq cru@urr@gl.o LiG&le (buckle) écbeug

(A) senw e g‘,]m&uﬂa) A
B) ewppsuLL GUEE @mI—GuU@eﬁlﬁ‘w
(O  E@DBEULS 2 DT STiILEHAD

D) sew 565G G]&rmggg,rra;
(E) eflenL Gg,lﬁu_laﬂsbmcu _

CEME/2022 S - b4 | )
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100. Which of the following layouts is suited to jbb production?

‘/A)_ process layout
(B)

product layout

- (C)  plant layout .

(D) functional layout

. (E) Answer not known

Sp&sanT cgqa»u)qu, g‘,]Lme;eTﬂa) a;r;g, a{mmqu, Slrib ‘Geuemew &mug,@ &G
2 &S| '

(A)  Qeweaperp SiebliLg SLib

(B) 2 pusHl QurmEr SewliLg S b
©) @® el S

(D) Qeweun’_( ewlilg HLL b

(E) - e Osflwefdancy.

_If ‘w’ is the number of subordinates, the number of relationships in cross-

relation is -

) n_(gzi+n—1) o ‘(B)'ﬁ(é%m-l)

© : 2(%_’1.,_1) D n(g?‘;én—lj

(E) Answer not known

£Qﬁmwuﬂeu umﬂqrﬂum vefwirerisefen Grauramﬂasma; ‘n Grmgu @gﬂa;a;uul_l_rrco

GNEG a.;pma;mﬂso o _GTer &mm&aﬂm Grmrmﬂesemasurrmg

2" e 2
(A) }n(—é—+nv—1) | o (B? n(§;+n 1)
.‘(C) 2(§—n—1) | | | D) n(-éz;—n—l) .

(E) oflen Gg;lﬂu.:@ﬁ]d)sba)
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102. WhlIe solving a hnear programming problem the s1tuat10n under whlch
solution is not obtamable 1s, -

‘/(A) Cycling
Crashing
(C) Locking L
(D) Striking . o
(E) Answer not known

THS GpHlenevuled @@uq&c Foeirum() @@@mmé;@ ellenL a‘,]mu'_lura_‘,]@ma)?
@) sppsd
(B) - Glongised

© ﬂasa;@mﬂ_rrg,a) :

(D) g,rras@g,eu' q
(E) aﬁ]mt.@g,rﬂu_leﬁ]mma)

103 In PERT analy31s a critical act1v1ty has
(A) Maximum float -

v@) Zero ﬂoat

(C) Maximum cost
(D) Minimum cost
(E) Answer not known

PERT c%u'_u@éﬂsi) @éaﬁlumﬁm Q&ﬁ_lévurr@ £g’9é§a;a§ﬁ|_m¢g§16b' ag;éﬁmd Qupmierers;)?
A) sfsuls u’réj@é;_cif | | |
(B)  yiw viigser

O odfsulsdlee

D) Eonpsus e

B) o Gpfuciome

CEMEr022 86 o o




104 Artlflclal varlables are 1ntroduced in the 51mplex method to

A) indicate the sens1t1v1ty of the surplus variable

~(B) modify the objective funtlon

&’ ‘/@) | determine the 1n1t1al basm feasible solutlon When surplus Varlables

are present o ; -

i .(D) apply matrix rules
| (BE)" Answer not known

N

&Qaamu asrrr,rco‘o‘rrma;aﬂsd THBE asrruemg,é\,r_r)a:rra; Q&mgpmas Lorrgﬁlc;&asm GI'GTﬂGS@LD'

penpulled &u@un&suu@gguu@ﬁmg?

@A) (Sg,mma;@ @{@&omﬂ wnfledlser Lorrg)p)ma;merra; asrrmnﬂa;as G@er@u) : d

B) EMN&Canar GaTL_LITL g 60&T LOTHD C?euam@m

©) Comaus® siflswmar LorrgS]G&pém @@asgmGurrg,j @mmpguu& @ogwﬁmw eﬁlml_ |

105.

Hevl_&s Ceuam(Hid -

(D) Qpdsafien ngﬁ]@mm&mm&; G WIneT C%@Jm@m |
(E) ‘.QSI]GU)I_Q‘QSIﬂUJQS]GDGU)a) . ' *‘I ) B L s

In an ideal inventory control system, the economic lot size for a part is
1000, If the annual demand for the part 1s doubled the new economic lot

size requlred Wlll be o o ‘o : oy

'*(A) 500 R, (B)2000

© “1—?—/%—0-" Erh . /@) 1000«/_

(E) Answer not known

N R urra;g,;ﬂsm eﬂa;a;em FIHEG SleTey 1000 TR @@ afrremw FNEGS 85L_®LJLHTI_®v' |

SiewLD 2 d@TeTgl. Dbs LnasSler Gu@ur‘r_sﬁu ng,sma_l @@muman@mGun@g u'a‘,]u
Slasen s76@ Sieme] GT@.IG)J[TQI Lo b? _

(A) 500. vt - ® 2000

© (D) 100042

- (B) aﬂ'éo;@g;lﬂuéﬁlé)msu

v
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106. Calculate the economic order quamty based on the glven inventory

details.

_ Annual consuinpti/pn : ‘ /1000 units
O'rdering cost SR  ' '+ Rs.50 pér Oi'der ,
Unit co’st, R B Rs 1

Cost of carrying inventory P 10% per year

(A 50
A 100
(C) 150
. @ 200

(E) | Answer not known :

: ﬁlcgasasm‘n_ aﬁlul;rrmasmﬂcﬁl@'pgj GO Qem)a; QUITEIGLD Qun@m Grmrmﬂa;ma;mu_;as

'asam@ﬁhq_a;asmw

'@@QJ@L‘@CS'&,@QJ‘ : B : o ].OOO'QLII'I'@GiTSGiT' ’

: QUMTRIEGLD Qe’r-ev‘eq . v " R @@ @mrEJ@g,gua;@ 50 emLimis

:_i@ép@urr@qﬂ'eif’raﬁlmm S o »v;,l@urru_l
Qurr@mmésa;rruuggj)a;rra;r Qsaway  : S UBLSIHDE Qurr@aﬂm

LA T Aealldnps 10 speddsd

(4) 50 | | o
® 100

(0). 150

(D) . 200

(E) e Qgfueiaee

' GEME/2022 g ) 58 o SN ®



107 For a product layout the materlal handlmg equ1pment must -

@A)

B)
©

(B

have full flexibility

employ conveyor belts, trucks etc

be a general purpose type , ,

be deS1gned as spemal purpose for a partlcular apphcatmn '
Answer not known

1

~'&gpu§§31 Qurr@oﬂm @{quumuuﬁlw SNDWOHS anr@m&nmwa;@ Gurr@uz;som
Goa;u_lrr@u) FTHETD GI’@_IG)JITQJ Bm&s Couamhid?

(A)

®)

©
O

(B

Qwrss Gpé]rpmg;gssmmm Qasrrasm_g,rra;

Qurr@m a;n__g,gc,luul_ml_ LOHMID umJ‘ Guasmq_assom amrrg,gjm @J&ﬁlurra; @@a;as'

~.,C86umr®m

Qun@&@@&@&nm&;m TS @@a;as Ga_lamr@u) ’ _
(M @gS]ul_cﬂl_L_ uu_lsarurrl__tq.g)@ g,@pg,@ngl qu_@_lemoasa;uul_rq_@e;a; Gmmr@u)

:aﬁlmn_ Qgrﬂu_le{ﬂa)ma)

- 108. Quantltatlve data of contalmng movement of materlal men and machme
- within the plant locatlon is recorded by

*)

- (B)

"~ WD)
®

Gantt chart

| Act1v1ty chart
- Emerson chart

Tra_vel chart
Answer not known

' @(ﬂj DMOEGET QgL QuidsLd Qaeim_ Qun@m an@mnmn&m LDQ)QJLD @u_ltr_rﬁmo ‘
‘ @clpélu_lmg),rﬁ]m 76 GI'QJG).I[TQI u@m Q&u_lu_luu@eﬂ,rpgj? _

®

®

©

- D
(B

Sment. Qﬁlma;a;:uu Lib

Qawidoun® eNerdHLLL 1D

eTorOlFer eQleTdaLlILL LD |

uu_lem NleT&ss L D
afllenL Gg,rﬂhéﬁ\ei)ma)
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109 The followmg information perta1n1ng to a partlcular company X for a
~ particular period T. Ouptut = Rs.10,000/- ‘Human' Input = Rs.3, 000/-
Materlal input = Rs. 2,000/- Cap1ta1 input = Rs.3, 000/- Energy input =
Rs.1,000/- other misc input = Rs.500/-. The Values are in terms of base

- 'year rupee value Compute total product1v1ty 1ndex |

/@1\) 1.053 . ® 15
O 333 o . (D) 3726
(E) .ADSWGI"HOt known S

/

X Q@Jml(@gmm‘é@m T !ﬂ@]LB Cpraden elleunid af@m@mrrgj Qeuaflui® = @.I0,000/- ;
wafigeuer 2 aref® = 5.3,000/- Qunasefiar 2_araf® = ¢5.2,000/- gpagen 2 aref®
= .3,000/- oypped 2 emef® = er.1,000/- An_fﬂg) a@h&’?@ = em.500/- g iLeL e
Bl w@uq S TCXRINT TR o) @m;pa;mTL_ g,asmsua;m 2 erama Gmsﬂa) Qurss 2 pUSHS

- zgmmqmaﬂuﬁlmma;asemnﬂ \
@ 13 (B 153
(© 383 (D) 3.726

(B @S]mn@g,nﬂmaﬂa)meu o R

: 110. If the observed t1me 2 minutes, rating factor for the study = 110%
and the allowa’nce = 10%, then the standard tlme in mlnutes is :

/{A) 2.42 o ® 282
' (E) Answer not. known R
a;euccﬂa;asuul_l_ Cg‘[le'LD =2 ‘nfluSlumesm é:gbu_tma;&srrm Logluﬁj’@ a;rrgmﬂ = 110% wHmb
Qa;rr@uumeu 10% GTENDITED, ﬁ@nm&aﬂwﬁmmmnw@(mgwnm@ A : 7
& 242 . (B) 2.32
' (C) 220 : N e D) 2.60
(B aﬁ]mn@grﬂm@ﬁ]mmw » IR

~ CEMER022 - .6 g




111

Internal gears cannot be produced by thls process e , |

- (A) Gear shaping . (B) Gear ‘hobbing

) Gear fo/r‘ming (D) Gear planning

- - (E) Answer not knotvn

’ gerr ug)&a;asgmrreo‘rgu a“@asemn_eumgjm CTIhS meg)uﬁla) @um(y)mru_ir@

(A) gp&asal;raemmulﬁlu_l@ R (B) ugp&asa;ryﬁ@@QGm_La)

() LpESET Qupaumdse® -~ (D) upssar swgaILRSESD

- (E) afﬂszm_ leﬂmaﬁl‘d)mw

112.

The process used for cutting a gear on a milling machine is ’calledv
‘/('A) Gear forming  (B) Gear shaping E

113.

~(0) Gear hobbing -~ T (D) Gear planning B

(E) Answer not known

_ ‘g}@mw @m‘mélvgﬁla) um&a;asug,ﬁmm G\em_l_ Q&uwu@gpgm (g)a»g)u_]rremg

(A)" UHEsST allgeUTES® (B) ug)&a;a;uce{mmulﬁlu_la) -

(C) upsssymELaiLd : (D) ugp&asasu&mg,muu@g,g,a) :

(E) el Qg;lﬂd_laﬁlsbmév

Grinding Wheel surface becomes dull the cuttlng edges worn out stage is

known as , |
(A) Balancing | e (B) Truing
©) Loading VL /GD) Glazing

(E) Answer not known

&mmu@g@m a;@aﬁ]u_fﬂa) Ga_u_(am u@jﬁ Fafipenenuhms @@uug,j LD;DQILD LTI

Haneoenwt @;ﬂuug.j . ’
A) "smmrra;@m (n,oas)g) - | ‘ (B &G’frg,e'rr@gei) Qom,rp

(© OGurgGepmse (D) sewenmyGuppsd

(E)  aer Gsflieferenc

e - B ' ‘ : [Turn over
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114 In gear generatlon the tool may be
B 0)) P1n10n shaped cutter

'(11) Smgle point cutting tool

(i11) hof | | | | Sl
@& @only “(B) (i) and (ii) only
(C) (i) and (iii) only. R "/aa) (i) and (iii) only |

-~ (E) Answer not known

-
. ”

LDFESTD 2 HeuTsasHe, qu ;'_.(b\aﬂ’u_rrrmg,j' ‘
() Yeflwer augar Qe Hefl
(11) @, apeer an@aﬂ |

o (1il) eom ‘ - . :
' (A) Q) LINCTH ‘, : | . | (B) (1) Log)guu) (11) L (b

©) (i) wppid (i) e @ (D) @) opgud () LDI_Q}LD'J
(E) ~_~._'a9ml»_'@g,mmam@» H

115. The type of regmer used for rough reaming operatlon 18
_(A)  Left-hand reamer W1th right- hand hehx /
(B) "‘R1ght hand reamer with left- hand helix
SO nght hand reamer with right- hand helix
- (D) Left-hand. reamer with left hand helix
(E) Answer not known SRR '

asq_sa'rmrrcsr ﬁLﬁ]rBJ umﬂa;@ uu.uarru@g,g,uu@m fioMer alems '
| (A) | @L.g] ma; fof 2 e Gueugj D& S(MHETHLD

(B) g s fioi o 1_air D8l @& s@HEHD

©) g s fof &L_GGT g s &'@@LD‘

D) Grgws fuoit o 0 @l_gj & &@@m
(E) olen Qg,rﬂu_laﬁla)msu S

cEME/2ezg,-.f e

(
b
|
i
[




116

117.

What would be the approx1mate melting pomt of the flller metal n

brazmg process" o

o

(B) 400°C
(C) 390°C

(D) 375°C

(B }Avnswer not known

Qg}rprﬂﬂ;eb ﬁa;gg@fﬂso ﬁ-uuﬁlu_%in Carymuwme &@@ﬁlmm GTGOTEHT?

(A) 430°C |

N (B) 40000

C) 390°C
D) 375°C
() aﬂm;@glﬂmaﬂd)mei) .

The ,maxifnum temperature 'produCed by oXy-.hydrogen gas flame is

(&) 3300°C Y \/aa) 2500°C

"{C) 2000°C° e D) 18000

(E) Answer not known - o

. c%asa&gm m'a_n)l_ugm eumy &'rL_IJ'ITGD g_mugﬁ Q&u.w.:uu@m e@a;w_& Qeutiiflened

@ s0c - (B 2500C
© 200 (D) 1800°C

(B eflen Gg,rﬂmaﬁld)ebd) .'

63 RS 'CEME/2022
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118 Wthh one of the followmg s called centrehne crack?

(A) Cold crack o , ‘/{B) Hot crack ‘
~ (C) Intenralcrack = | (D) Partlng line crack
- (E) * Answer not known
» z%rpa;@'o'n_mm@a) Grgj SN&& Q@qu_I_IL.I GT6OTD) &mrpa;asuu@é]mg
(A) @mﬂrr @Gumrul_; | - (B) QautiLl Qaugliy
| (©) vy QG)JLq_uL; " - (D) uni g Gar® Qauig iy
o (E) @S]am_ Qg,lﬂuaﬁla)ma) | \ \

119. Which one of the following is a primary advantage of forging?
‘ (A) Good surface finish- .(B) Low toohng cost
(C©) Close tolerahce R \/Qﬂ) Improved physmal property
{E) Answer not known

v@s&@,@mmmﬁ)g& Qergg\,a}rer FOUBLD (PSETENLOWITET HETEDLD
(A ‘([56;:061) Gmgbuﬁuqé FrenLn o (B) @cmg)gbg, a;@aﬁl Qeeay
(©) Q‘rp;@réJa‘i}uJ @ur‘ryﬁ»\a - (D) Cubu@ssriu ey @U.IG))V'
(E)  eer ®§>Iﬂu;1éﬁ]d)6mo | R |

120. The type of force exerted Whlle carrylng out commg 18
‘ ,(A) Tens1le AT N . " ‘ Compress1on -
(€) Impact ' o (D) Shear |
"(E) Ans-wer,net knoWn | o

. pnmum&é)Lw @mmu&]@n@ur@ @maﬂuu@g,g,uul_l_ aﬁ]m&u_lrreo'rgj o

(A) ﬁ@am_o B R (B) SIPESLD
(C) sTESD (D) pmssw
- (B) ’éfﬂmn_(.lgrﬂu_laﬁlcbmev . :

CEME/2022 e




121. One of the pattern materlals used in pre01s1on castlng '

. (A) '. Plastlc B
‘/B) - Frozen mercury | | | e | .
Wood - . Lo . B V.
(D) Plaster of p paris ' |

(E) Answer not known

FiEILL urn9ic uu.xmu@g,g,uu@m R wn@rﬂ@un@m

&) apay |
- (B) 2mppsursyEd
- (©) wm |

B (D) unfles smp) |
(E) aﬂ@n@g,tﬂuaﬂebmsu‘

-~

122 Paddlng in cast1ng is ‘ \» | |
.' /CA) "An extra metal welded to the or1g1nal uniform sectlon of the '
- casting - . L , N

B). A method for production of chllled castmgs |
©) An extra support for thin castlngs ‘

. ‘} (D) Reinforcement. of sand in the top part of the mouldlng box
(E) Answer not known SR

L mnnu@mag]aslﬂuq GTEOTLIG),

(A) 'é@as @{Grreh &@mna;mrrmgj GurrrruLCﬂa) G&na;&u LQeus

B GSI.q_GNLDI'I'SSHSLIL_II_I_ QUL IL&EneT &GD'O'I'I_ITGS@LD Q,om;pu.urrmg.j |
| (C) Qoevedlw @Jrrrruqa;emrrg, g,rrrs:@eug,g)@ &u@u_lrra;uu@g,g,uu@\m g,l._ml_asm |
- (D) L.Qu@ul_u]_uﬂ]arr G ma.uasa;uu@m @{g‘,]g, LOGRTED o '
(E) | eflenL_ Qg,rﬂmaﬁ]euma) . .

o oo e ~ CEME/2022
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123 In chem1cal dehumldlﬁcatlon the dry bulb temperature of air
' and the chem1cal used as silica gel whlch is the compos1t10n of |

as
\/@x) Increases, sodium silicate and sulphuric acid
(B) =~ Decreases, sodium silicate and sulphuric acid -
- (C) Increaes, silicon dioxide and siliconic acid‘ |
(D) Decreaes, silicon dioxide and s1hconlc acid

E) Answer not known

,,,C‘S@_lﬁu_lsv @ommufﬂeo FFILILISLD ﬁja;@m Qpeo,r_r)uﬂa) 2 @iGIP Qmuu;ﬂmmuﬂ]m STHNI
<2{GT6Y — mmg)jm UwETLRSSILHL Gm@u@un@m 24,68 ﬁsﬁlasrr an)
- g . SO EILIMTED %mgj

A m@eﬂgpg (S&rnq.mm ASICHL Log)gm.o 556 Sifleowd
(B) @'mgpa%],rpg,] CS&rqu_u_lLo HNCsL. Logpgjto a;g_r,;_r;as Sifle | _
- (0) &x@é]gpgd Hfsser e 2samav(® LHHID eﬂoS]as(Sa;rrsvﬂas <ifled |
| D) Govdps, Adsser e %a;mou@,\ Logpg)ju) eﬂaSla;C%asrchﬂas é{LlS]Gl)LD
(E) oﬁlam_ Qg,lﬂu_taﬁlcomco ’ o SR

' 124 In order to obtain high coefﬁc1ent of performance the pressure range of
compressor should be, ‘ Lo :

A Lw B High-
‘ v(E) Answer not known o

<ifls Q&u_mu;ﬁmm @mra;g,mg, Qum Gmem@mrrmrrco énq,pasél (compressor) ulletr -

| é{@gg Greoemmu_mmg,j eTLiILilg. @@a;es CSoer@Lo o
| (A) Gopans o (B) é@&mn&; o
() o. 3bar L . () 1.3bar

(E) ofﬂem_ Qg,lﬂu_lafﬂeumm
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125

MiXture’strength is the ratio of

/(A) Stoichiometric A/F ratio

126.

- (B aﬁ]mu@glﬂuéﬁld)mw

- .e./

(B) aﬁ]mr_ leﬂmaﬂmmw

Actual A/F ratio

»(B)‘ - Actual A/F ratio .

Break power

() - Break deer

“Acutal AlF ratio

(D)  Actual A/F'rati'o

Stoichiometric A/F ratlo :

, (E) Answer not known

arﬂ@un@m assvsmu &Qjﬁ Gram_ugj

QA GDL_rra,(Sa;lTQLDl_lﬂa;A/FaSl&lgLo -~

&meLDUJn'GMA/F Adsib (Actual) ‘k o -

(B) : o ameowwrar A/F e9dsid (Actual)'b -

- 19Gr& weurm

(C) R 119Gy Leuit

o amepwowner A/F 69851 (Actual)

D) __ 2 arevure A/F 698sb (Actual)

. Gml_rra;Ga;rrGlLol_rﬂasA/Faﬁlaﬁlg;m R .

The ratio between the Schmldt number to Prandtl number s called .

'(A) Sherwood number D LeW1s number . -
(C) Peclet number . (D) Knudsen number .

(E)l Answer not. known

muﬂg Grasvrmﬂm@ uurrasmq.w Grmrswﬂg)@m 2 _grarm aﬁ]éﬂg,m @@JQJITQl @qmrpa;a;uu@ﬁgpg
A) Qm)rra.u_ eaor . (B) &Seflev ereim ‘
(C) Quéaeawmr = v (D) piGsen eraim

62 CEME2022.
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1217. In a binary 1deal gas mixture of two entities A and B, the dlffusmn
coeff1c:1ent of Ain Band Bin A are ’ : ~

(A) Equal and both decrease with te'rnperature”
‘/B) "Equal and both 1ncrease with temperature

(O) Unequal and both i 1ncrease ‘with pressure

(D) Unequal and both increase with temperature
(E)  Answer not known T | |
FR(R@ILIL 5@§Qu_| ey seveneuuder @@' g@ﬂucmqu Qurr@crr A wpmib B, A & B ’
eQyeue Qs Log)gum Ben Aa‘_ﬂl;rmm G]a;@ -

(A swb Log)gu.o @mm@m Qauliu flaneéE GDS®
(B) s whmid @Udﬁ@& Qeutiu ﬁmméz@ ‘e{‘e_f,la;lﬂgg@ b
(©)  swopp wHpb GraTdL SHSEEHPE 2Pslsd
(D)  swwpp wHD GrerGid QG)_ILJI_I ;_F,]meua;@ aﬁ&ﬂggw |
(E) aﬁlam_ @g,rﬂu_leﬁla)ma) ‘ R , o ' "

, S ‘ ;
128. The Nusselt number 1S related to Reynold’s number in lamlnar and

} -turbulent flows respectlvely as

(A) ReV?and Re®® \/B) Re”2 and Re°8

(C) Re'? and Re™®® (D) Re!/* and Re®™

‘(E) Answer not knewn " i PR

fyrer LUMLia WHHID é@rrcq umiiede o_arer Qremmedr. (Reynold 8) eresr mgpgum BFDL
(Nusselt) Grmsrewﬂm@m @am_Gu_IUJrrm QgL - '

A ReZopgoRe®™® . (B Rel’2 opmb Re®®

© ReZupmid Re“OS T (D) Re' wppw Re°7

(E) aﬁ]ml_Qg,rﬂuJaﬁlsoco‘)m S

CEMER022 66> 0




129 Under steady state condltlons heat transfer from the exposed surfaces of |
the f1n is equal to the '
/(A) Heat conducted to the fin at the base |
(B Heat radiated from the surface
. ©) Heat generated- w1th1n the fin _
(D). Heat transferred from the lateral surface
(E) Answer not known , | |
: ;_ﬂmsuug@ ﬁupg,mmasaﬂa) Qmaﬂuuuuqmt_u_: g.]@g,g,g, ‘e_r,a;L_urev @@gpgﬂ ﬂa;@u;,
Qeuli mng)mmnmg TSHGF &Lownmgj? v
@A) g@gggg&;qm é{l.q_LDL_.l_‘QSQ!D@ 85|_§§LII_I®LD Qeuuul.o '
| (B) uvulﬁeﬁl@r_ﬁgﬂ FHLGD Qeutiug sfieies ’
" (O)  smEss B e 2 61Car 2 (HeuTEd GeutsLib

i

(D) ‘ugseum GU1 LIS BhHS) 85I_§_5§LILI®LD Qeuliubd | |
(E) - eflen @g,rﬂu_laﬁla)msu | | o v .

'130. For the fully developed laminar flow and heat transfer in a unlformly;
. heated long circular tube, if the flow velocity is ‘doubled and the ‘tube
| dlameter is halved, the heat transfer co- efﬁc1ent w111 be :
(A)  Same as before |
(B) Four times of the or1g1nal value |
(C) Half of the or1g1na1 value
‘/GD) Double of the original value
Answer not known '
‘ R BawrL QJI_I_@IEQH'UJ Erns. @@u@gguu@&ﬂ@g é{gﬂ @@@.@jw G)JGTIT‘IBQ'; CSa)L&afrrrrr

@LLb whmbd Qeuiu wrHpsHed o dreng. g @It Causd @@Lm_rmasrraseum
Gmuder el 1b LTHunseayd WwrHpLILILL T Dige GeuliLl ulﬂmrrg)g) @Gma;m

N A @Cs Guimé LDH'!_DIT@@&S@LD
(B) =g wHnlenen Gumed gpn@r@ LoL_rma;rr@Lo
©) =wee wAU9D LTHuTs AHEGID |
D) <ige wHiGear Gumd G(F LLBISTGD |
(E) ‘aﬁ]mL_Qg,rﬂUJofﬂd)mf' | ' B
o AR CEME/2022'
V ' o : [Turn over



'131. From a metallic wall at 100°C, a metallic rod protrudes to the ambient
air. The. temperatures at the ‘tip wall be mmlmum when the rod 1s made

- of S e | 1 |
(A) Aluminium" ', o JQB) Steel o | | |
(C) Copper - - D Sllver <

(E) Answer not known |

ETIGR 2 Gans seufler Qeuuu(é]emu 100°C @@’ 2 Gons &b9 G)JGfﬂLDGUUTI_GD a;rrg_r)gS\Gu |
‘2_@\@@91& Qeesmmen, Grg,g &C‘o’eurra;gpg,rrev &@GUITGGT sodulen  mef Q@Juuﬁlmm

GODalns Q(HEGL | _
(A)  signiaflub QTR '(B)“Grfo@‘_

. (C) Ggby s (D) Qeudrefl
| , (E) @Sleml__@g,rﬂu_xaﬁlsoemu ‘ o '
132. The main parts of a Kaplan turbme are
(1)  Scroll casing
(2) Guide vane mechanlsm

3) Hub with vanes (or) runner of the turblne
(4) Draft tube ‘ '

" The correct gnswer is
@ Mand@only - ® Q) @ and (3) only
(©) (2, and(@)only ,,GB) 1), @, ®) and (4)
(E) Answer not known ‘ o
- SpssaTLuDmIET  GTHS 5rﬂu_|'nszrr/ aﬁlml_u_memg,j Qa;umrre‘qr gj@ﬁluﬁldﬂ' WpasHu
. LIMGRIGETTGLD? ' ' T : A

14

(1) _é—@m&mrp , :
‘ (2) , @@mgﬂ)@mlﬁa;m_(am Qun@@mm
@) @g]m&mrr@u_cﬂem mu)u_l'e_r,ﬁsu &mguu) ST
(4) "@@5@ICQH'UJ | L R |
B Woips@uien (B (D), @) wbpib () wies
O @@ e @Weies D) (), @), 6 wipo @
(E) . Qﬁlml_Qg,mu_.@g]@mw - - - L
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+133. The ratio of pressure energy change inside a runner to the total energy
’ change 1ns1de the runner is known as . :

(A) Hydraulic efﬁc1ency
- (B) Degree of freedom
¢(£1) - Degree of reaction
(D) Mechamcal efflclency
(E) Answer not known

- &irpaﬂuﬂlm o arCar qgjﬁu@m a@‘&,g U g HED spelufer 2 arGar gHUGD Gmrrgg k
2HOED. Lorrgpjurruq_g)@m gcqerr aﬁ]é\g,mrrmgj @@J@Jrrgj &@uuu@aﬂmg
A) 'Gm@_ml_vrraﬂas Qswé Hpen ‘

B) A@ovamr
(S " adi Qﬂémsmunéégmutq_ .
‘ (D) @mﬁgﬁu@ﬁ]w@ Q&u.;sbﬁgpa’n |
E) Mo Qg,,r‘ﬂu_u,aﬂd)m@ s

134. Op.erating characteristic curves of hydraulic machines are also called as
) Constant speed curves | "
- (B) ISO- efficiency curves
| (C) Constant head curves

(D) Muschel eurves -
(E) Answer not known

: | gmaﬁrr &IEQGIS] a;@@fﬂuﬁlm QEUJG\)LJH’I_@ mmmeua;m e%ga;ml_mrrgw @,q’)]ulﬁh_a)rrm |

(A) orpr Geus eucoenma;m

'(B)‘ gD,CS&rr cn_cﬂeﬂu_lsmé\ CUEHGTESET
(©) wmpr flewbl L amereyser
D) pQagd éﬁmm@j’m’h‘ o
(B) oo Qpfluichime

I I M  CEME2022
S o | L | ' [Turn over



- 135. Ina p1pe ‘the head loss due to sudden expansmn 1S expressed as where
- V1 — Initial velocity at hefore expansion |
| Vz — Final velocity at after expansmn o
- 8- Acceleratlon due to gravity

<A>-.-z% LA i-wF e |
.28 2g o L 28

. (E) Answer not known o
: R @I(.QH‘US]Q) (W TRIT gpl__l_g,;ﬁeu GG UL Loms ﬁmrr afﬂl_l_ oﬁhﬂmna;asg,gi]emnsu gﬁ]a;@m
bl @L.Quﬁ]mm @g’)]uiﬁ]@mgﬂ _ o , _
v — flansGousid Slefr aﬁhﬂmrra;ssg,ﬁm@ memn '
‘ V2 - @m&@ma;l.o Hie i @S]rﬂmrresa;g,ﬁg)@ lﬁlmsmrr

g-— qoﬂuﬁnuq (y)@&;asm

<A> w @ .® '~(VI—V2)2/2g.
o v <D><_V1:ﬁ

28 2g . 2 .

g 2g | g

- (E).  oflenr G]g_,rﬂu_laﬁ)sbma) |

- 136. In a laminar pipe flow for a given flow rate Q the power requlred to
} overcome friction will be proportlonal to - '

o we A @
. © e ',;(D)- Q"
(E) Answer not known '

, G]asrr@es&uut_l__ QUL Gﬁg,m ‘QY afﬂg_r)a;rrm (SQ)L&szrrr @L..L_‘QSQGD aryrru.mﬁ?m@ CSLoqou
L aumeusnE Gg,mmmrrm&a;ﬁlu_xrrmg @Gmmr@nﬂu_lrra; B (w&s ,, , o

@w& e - ‘-(B)Qz,
© Jo (D @"
(E) aﬁlml_Glg,rﬂUJaﬂé)meov' -
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| 137. A line along which if velocity potential is constant, then the line is said

to be I
A Stream line | ' (B) Path line
.(C)‘.' Streak line o \/@B ) Equlpotent1al line

E) Answer not known

!

(1 (Sasrn_Lq.em a.ué]@u.: Qm&@ma; Q;Da) @C?r;g,rras @@;_F,g,rra) <5 GCam®H Q&rrsueudtu@eugj

- (4) gg@'IWL—_L—BE Gar(® | o (B) urrsog, Car®

188

C) eucmems (2‘5;"@ N o 3 - (D) swdme Gar® .
(E) Qﬂml_"@g,»rﬂu_loﬁ]sbmm e
Choose the correct optlon to prevent the separatlon of boundar'y layer |

@) Suctlon of the slow mov1ng fluid by a suctlon slot

(ii) Prov1d1ng gulde blades is a bend

| (111) Prov1d1ng small dlvergence isa d1ffuser and’ Nozzle

./(A) @ and (i) only o - B (11) and (111) only

) (@) and Gii) only (D) @) and (iii)
(E) . Answer not known R S

&Qasasmn_eug)gm mpg arrﬂu_mear cﬁlml_unmg Gra)smo é{@&;@&;aﬂm @manm ;._r,@as@'l_b? -

B @ &@@& g,]emmu_‘ﬂeo'r (l,oemo OLog,]@Jrra; Q&a)gum Queug,emg, a.gS]@&g,w

(@) @Jmcﬁeqa;efﬂa) oJL.@a;m_® asg,gasmm uu.nemu@gg,jgsa)

(1) Qﬁlqaﬁlu ulyuusurrm Log)g)uo GLpmil (g)mma;aﬂa) #@1 eﬁhﬂmasmm qmu@g@g,a) '

@ Oueppeecos B @ wppoiheces

© O wppod @)eced ©) O, G wpp> i)

2 CEMER022
o T [Turn over =



.139. Newton’s law of .\;isedsity ’depends upon the

(8)
B

O
(D)

(®

‘ ‘Stress and'strairi in a fluid

Shear stress pressure and Veloc:1ty
Shear stress and rate of stram

‘V1scos1ty and shear stress &

Answer not known

ﬁgl_L_QiﬂG(ﬂ urr@'g,g,emmm aﬁlg]emu_lu Qun@gg@

)

®

©

N0}
®

20 Sreugde éﬂ@%w LopmID Sy

Qe @ é{@g,gm é{@ggw HmILD @@J&;LD

Qeul B Si(pssLd LD[DQ]LD Qnﬂu aﬂaﬂgm
LIT@&Senanio Hmd el é{@ggm B
edlen Qg,nﬂu.:aﬁ]evmev - B

140 ‘A uniform body of size 3 m long x 2 m wide x 1 m deep floats in Water
- Whatis the welght of the body if depth of i 1mmersmn is 0. 8 m?

Take g 10m/s

@
AO)

®

48N . o (B) 4800N

48'000N o | o o (D) 480 N
Answer not known‘ L

@ &m&ﬁurrm Qurr@aﬂm Sieme| g 3 1S ﬁmm x 2 LB DG X 1 8 (2. wimid) Sppib -
ey flle WssHg. @ﬁm 0.8 18 oL Btb @tpeﬁlu {_fﬂmeuuﬁ]@) @@ulﬁ]ﬁb‘r BlssE
, G]urr@erﬂm CTEOL. GTEem?

| ."» 'Takeg lOm/s

@A)
. ©
- (B)

CEME/2022

48N . . (B) 4800N

48000N (D) 480 N
e Qsflweldame o |

R SR o




141. A liquid 1s corhpre_ss‘ed inicylind'er' from a volume of 0.04 }m3'at}presvsure \
of 50 kg/cm? to a volume of 0.039 m? at pressure of 150 kg/cm?2. The bulk
modulus of elasticity of liquid is E SR » S
(&) 4000kgmz . AB) 4000 kgfem? B
(C) 2000kg/mz . (D) 2000 kg/em?
(E) Answer not known | AR
I Quwwﬁe«s@ 2 menaruie é{@ésasuu(b\l.b@ﬁr@ 50 kg/cmzla@ej,ggg%\d) 0.04 m3
. sar seraenyd 150 kglem? siwsssde 0.039 m3 san SeT@aiD AUDEDS.
&Um‘éﬁéﬂ Seranin&Qsp ’Grafvrm? | DR | R
(A) 4000 kg/m? ~ (B) 4000 kg/cm?
(C) 2000kgim? - (D) 2000 kglem®
() oL Qsfucdome | o

then the body is said to have
| \‘/(A) " Transverse Vibration
~ (B) Longitudinal Vibration
" (C) ‘Torsional Vibration
D) ‘Free Vibration

(E) . Answer not known - :

'142.:‘ If the particle of a body vibrate perpendiculaf to the axis of the body,‘ =

@@ - Qungpeiiem g]gsmnmgu, ve{u@un@aﬂ_&r "’é{&&é;@ G&réj@g,g,ﬁa f;é’@ff‘@iﬂ')_m"@» :
- LQuUImmeTTETg) — &QU!D@@@QIDQL e SRR

A)  epssdial

(B)  OpHssdiey

(©)  ppssfiay

. Dy @ms’ueuﬁr’rcq |

(B) oo Gpfuciome

3
/

@ e R A ~ CEME/2022
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143

-

The natural frequency of free transverse V1brat10ns due to a po1nt load

acting over a simply supported shaft is equal to :

(W hen § - states deflection of a simply supported shaft due to po1nt load)

- 05615 N e e 04985
10.571 e 0.6253
(C)’JE‘ (‘D).,\/g".,

3 - (E) Answer not known

144.

B gL wWHD él&élﬂ)@ GOi&sTen éqg‘,lrrmasm @ qamrﬂu_‘tleu Gl&u_!a)u@m o&lma:u_lrra) FHLIHLD

BLA wfiy 8 arafldd, @ wpever @ysreyLar o drer e@®m samga (shaft) em yeraf

dlensulleme gHpu@SSLILHD SOL_WOHDH a{&aﬂgp@jgga;a;rrm aélrrm&erﬂmrrsu quu@w
BLA S’ eraflen, Qupms sifiCeuamammang) TR . |

v 0.5615 - ' 10.4985
O o BT
w0571 . 06253
©F O

(E) eflenL_ Qg,nﬂuuoﬁ]sbéosuﬂ

A disturbing mass ‘m,’ is attached to rotatmg shaft at a d1stance r1 may

‘be balanced by a single mass m2 > attached in the same plane of rotat1on

~ at a distance * ry’, as that of ‘m,’ such that

(A) m1r2 m’z’l - H . ®B m1m2 = rlr2 ,
\)2) mr, = m,r, - . (D) 12 23—3("1”2)

(E) Answer not known o L .

80 Agmisre) Heop M G &ewamw n. %Uﬁﬁ@ @mmwﬂ]@ﬂ@mﬁm AP

emﬁma)u@g,g m, ergyid ;_5166);_0 Iy eenp ArSSled ng,sv ﬁmmuﬁlm <Gs gcﬂgﬁw
Q&mmu@mmg eTeuGUmy @';ﬁlul&ll_a)rrm? e :

@ mp=my ® mymy = r, g
O mpemp RS TS

(E) @sm_ og,mmm@m o

CEME/202.2 . R




145 When a rigid body in curv111near translatlon
_ magmtude and dlrectlon ' :

,/@)

O

Velomty a/.nd acceleratlon

) Llnear velocity and angular velocity -

(C) Linear acceleration and angular acceleration
(D) Linéar velocity does not exist

(E) Answer not known o

@i g@u@un@m mmma;@a;m_lq.eu pa;@m CSurrgj
mn@;u@m o .

A @m&@m&w g‘,\m&@@&&m

3B) (Sg;n’ Qm&@e‘ua;m auemer HameCausd

(©) Cwr Qm&@@a;a;w auaer HaspOESLD .

k Cwit @m&@m&_m [GELLE

(E)

e Qgfluciidvame

146, A differential gear in an automobile is

@A)
B

- (©)
(D)

®

a simple gear train
an epicyclic gear train
a compound gear train:

-a reverted gear train

Answer not known

|

gsrraﬂu_!réjé\uﬂeb s;dTm czmgunu_@u LDEEETLONGIS, l

A
(B)

- (©

®)

® |

20 eraflw LpE&ESTS Qgm_

e Qaueflau s Lpssars Qgrn_rr R
@@ S L UDFESTS Qgrn_rr '

@ Bevsiompp LpsaTs AT
cflen. Ogflueiidena |

- 77

_____ change both in

—_— éimaﬁ\gmi_b, g‘,lm&uﬁ]gmb

CRME/0%2
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147 Accordlng to Kennedy S theorem If three bodles moves relatlvely to each
~other, they have three instantaneous centres and he ona

GRS
(O

triangle L ~ (B) point
“spiral curve S e ‘/QB) stralght line

(E) Answer not known o

| »G]a;e'mamq_ Cahpsdleniig apemm Quss @mmuqasm @mmrp@urrang)] &rrrr‘l_r,ﬁu_lrmaﬂmrrco
- SeupdnG e m SerGHIT eLDUIBISET @) (HéELD, Gm@u_o Sl DUPSE|LD ¢(h

(A)
(©

pECatamsdled siemwud (B) Hemaflufled yemiowyb. -
FLOQID auenerelleh Lo b (D) CrIGsTL Iq6) ByeniouLb

(B Qfﬂcm_Qg,rﬂu_laﬁlsi)ma)

148. A motor car movmg at a certain speed takes a left turn in a curved path
~ If the engine rotates in the same d1rect10n as that of wheels then due to

~ the centrifugal forces.

@

| >

©

CEME/202§

=y

)
®

The reaction on the inner Wheels 1ncreases and on the outer wheel

decreases

The reactlon on the outer Wheel 1ncreases. and on the 1nner Wheel'

‘decreases G e
The reaction on the front Wheel Increases and on the rear wheel

decreases

'The reaction on the rear Wheel increases and on the front Wheel '

decreases
Answer not known

R @'@uﬂu_ Gousgdler Qe mrrasmmrrmgj Guemmmuurrm/g,uﬁla) @!_gqumrras

EmbLflng. F&sTrisT &gpguu) HanaulGaGus @urrgS] a&n{pgum@urrg mmu.naﬁ]a)a;@-

é ’

‘ /a&]m&a;aﬂmasmymmrra; _ v ,

A) ardliellenen o eir- &$5Uf518561ﬂ60 éqgla;u)rra;mm Qeuafl &a;a;urma;aﬁsv @mgpmrra;mw ‘
LommILD ' , 4 ' o
B) aﬁm&]mm Qeuaf &asa;grma;aﬂm &gﬂa;mrrasmw 2 @t &a;a;urma;aﬂa) @mmmrraseum
- LOAMiD ‘ : : :

© erflireflenan (Boasr EESTRISMED, aﬁ&mn&;mm (Gt &a;a;urma;aﬂa) @emg)eurra;mw

. T | v . Lo |
1)) L Grﬁlrraﬁlmm Qe &Msmmaserﬂso ca{.é,lasmrra;mm (_L,om sa;a;umascrﬂa) @mgpmrra;a{m
. omo :
(E)' aflanL Glg,rﬂu.naﬂa)meu

W o




149. Let ‘V’ is a linear Veloc1ty of rotatmg member w 18 angular velomty and

T is radlus of crank 1dent1fy relatmnshlp which helps to find the V’

W v=2
| r o
/B) "V_=«wx"r'
© v==
, wr
1

(D) V=—2—w2xr ‘.

(E) Answer not knde

) Qun@aﬂm CS;F,W(B&;WL@ Qm&@msg,mg ‘V’ GTTaLD, G&nmﬁm&@magmg
w GI'@TQ.]LD a}gpguu) QuotbLiflen ég_;,mo v eraflev, &Qa;asm_ Gry;g, G]grn_rrq aoarrurr@f

Gpn@anL® g‘)m&@ma;g,mg asmra;a‘sh_ &g,aﬁ\@w GI'GOTQI asaym_gﬂ

®) V=wxr

© V=—

S
1

O Veguter

- (B @S\mn..@g,uﬂu,]a&\&mcu

- o . ~ CEME/2022
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150 Two f0rces of magnltude 4N and 5N acts at an angle of 60° the
' ‘resv1tant force is equal to : ‘
& 6N fB) J_

®) 7N S ) 9N
: (E) Answer not known | |

.@uem@\ elevssefian ey 4N LD[_T)Q]LD 5N @ezm_uul_l_ GamemrLb 60° GI'GUﬂGO oﬁlcmrrcsq

eflleng eremen? -

f(A)"" 6N 'V(B)_«/G—l

C© N B oN

(E) efleni. QsMweddeney

151, Accordmg to pr1n01p}e of transm1ss1b1hty of forces the effect of a force
upon a body is - ~ :

A Max1mum when its acts at the centre of grav1ty of a body
- (B) leferent at different points in its line of action
‘/QC); ; The same at every point-in its line of action
LD Mlnlmum when its acts at the centre of Grav1ty of the body
~(E) Answer not, known - |

-oﬁ]m&a;oﬂm 2ar( sULEDD Garn_urruq.muxq_ @@ Clurr@oﬂm Lng Q&@I§>§UULL :
L eSlengull e oﬁ]mmmn«m@ ’ | ‘
@A) Qurr@oﬂsm ITITI_IL| mmugﬁm cg:@.am_lL._trLorrea; @@5@Lo |
(B) Q&u_la)urremguﬁlm G'QJG)JG@JQI qenoﬂascrﬂa) C‘émgu Coupras @w@w o
©C) @&u.muurremg,uﬁ]m peuQeun(m umoﬂ&@m @e‘o'r,r_r)rres @@a;@m -
(D) _ FRTOLY enowiSSHled Q&@gguu@m@un@ @QD[DQJITSS @@a;@m L
(E) efen Qg;rﬂmoﬁ]eumw o

CEME/2022 T




152 Match the followmg Llst I w1th L1st IT glven below

o/

(@)
()

- (d)
A
'®)
(C)
D)
®)

v Llst 1

List I

p1ecew1se contmuous tr1a1 functlon 1. Mid point node

shape function.

quadratic bar element

serendipity element .

@ ® @© (@

4 3 1 |
3 4. 2
12 3
3 2 1

-Answer not known

N L ]

2. Nodes along external

boundary

3. Interpolatlon |

4. Curve fitting

LﬁlsifrequLb Ll gwie - T g i qwed - 11 _2_;_6%r QUImSS6LD.

. (-a)

«quumI

g]GW@ g.,lswrura; anLn&é]qurm

- C?»&rrg,mm Q&uwurr@

©

(A)
()
- ©
D)

(E)

‘emq_eu Q&u;eo;.:rr@

@mup Ul igm'n_[
~g,gjj@&u4d)&g)juq

@ b © @
4 3 1

3 4 2
1 2 3

3 2 1
aﬂmt_Qg,iﬂumﬁld)mo

L

81

ugwien IT
1. §®uu'6hcfﬂ apenen

s

2. Qaefuiyp demeuia

. pevenger
| 3. Qe & Aemaed
a_lézpméu Qurr@gg,eiy'

/

 CEME/2022
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158.

154

The production contrbl in Just in Time is based on -

() Pushsystem ) Pull system

© Continuous system (D) Intermediate system

| (E) »Answer not known -

. gmn_ Q)6 emL_Lb-6d &g)u‘e_r,‘gc,] a;|_®uurr@ cTHEE é{l.q.l_lLJGo‘)L_u_HT&SGS Qs meirg)?

A) - L&@Q é{mwuq . (B) @@é{mmuq
(C) Gg,rn..rr&eﬂurrmammuq - (D)@cm_ﬁemv @qmmuq

7 (E) aﬁ]mL_Qg,rﬂu_l@S\wmw

A robot is mstalled in a MRP unit at a cost of Rs. 20 00 000/ Total
- operating cost per year is Rs. 3,00, 000/- Robot life period is 5'years. What

will be the annual rate of return for two shift operation if operators

- cost is Rs. 2, 00 000/- and increased output is Rs. 9, OO 000/-

@A) 25% o ® 30%

© 35% | ‘/a;» 10%

_ (E) Answer not known

’@20 00 OOO/- Q&maﬁ]dﬁ @@ MRP éqsoeﬂev @m Gun@un @upSrbd

G]urr@gg,uu@eﬁmgj R QJ@I_g,Qg)@ élgm QEU_IGI)LIH'L_@& Qeevay m.3,00,000/ - isen

SujeT S 5 <%e;ozsr(l,\ase;ﬁ aafléd  siger @m_am_ Quusirey Qeweur iy Herer
Sy eSsd Greueuerrm’) Qupdrses @u_la;@usurr 2000  wanfl Gpgm,
- Geuemevenwl . 100/ mmﬂGg,gw Q& amS]uS)a) GEdis. (Sm@m) m@Lng,Qu uurrmrﬂun_;
Qseey am. 2,00, OOO u)mguu) G)J@I_H‘II)QIJ' &1@5&) Qeuaﬂuﬁu.@ . 9,00, OOO |

@ 2% (B)30%»
S ©'% . (D) 40%
(E) oL Gsfuciome |

CEME/2022 82 . @

- works for 2000 hrs and. operator cost is 100/hr if annual mai’nténance |



. | 155 Cellular Manufacturmg is based on an approach of o

LA
®B)
(©)
(D)
(E)

\

Group Technology

Flexible Manufacturlng system
Mass production

Taylor S pr1nc1ple

Answer not known

- aThS &Lq.uumn_uﬁlo) Gl&oo@mmrr g,u_lrrlﬂuq Q,po»m é{Gb’)LDUJlJUL@GITGIT@]

(A
(B)
©)

D)

GW Glg,rrrﬁla)@n_um
euemrru_m) g,u_lrrrﬂuq @mm
ﬁum gwrfliiy .
Gll_ti_la)l‘rl'eifrz‘C'Sa;rrLur\r(@ : |

. 156. A Flexible Manufacturlng cell (FMC) cons1sts of

P il

“Two or more CNC niachmes a computer and a robot for matenal .

handling”
(B) Several CNC machmes con_veyors ,and 'crane's, fOr» m,aterial
- - handling . o L
(53 S1ngle CNC machine and a robot for material handhng |
D) ”Several CNC machmes computers and several AGVs for mater1al
_ o bandling i
- ® Answer not known
vFMCélGD@GI'@)TLIQJ T e e R T e
A Glurr@crraso»m ma;urrcrrmg,gpa;rras @lmmr@ &o)a)gj @Ummq_gp@m Gwmuu_ CNC |
: @ Hewtle, (SurrCSurrasasmoT @mmuu@
- ® -Qurr@ma;mm eswumar ua CNC @mgb‘e_f,luma;m Gla;rrmnﬂ Lopgd LD
- gna;aila;mm @mmuu@ _ : :
(O  Qunmarsamen awITeT QR ENC @w;r;ﬁug,gﬂl_m ) @UrrGurreosu @mm
(D)  ue CNC Quipdyisser, a;mﬂasﬂasm AGVssemar @mm‘ruugj '
(E) |

oﬁlem_ Gg,rﬂu_loﬁla)men

- CEME/2022
: ' ' [’furn over



157 Band In a binary systemis
/w |

(C)' |

1)

®

| smuamﬂ e,qmuaunﬁlco Band Grszm_@j

)

(B)
©
D)

(B)

one bit per second

‘two bits per second

four bits per second

eight bits per second

Answer not known

Apma & @@ blt
QBTiy & @ram® bl_t
QBT & pren bit
Qpmg & er_{ bit
AL Qpfiscirma

~ 158. Machme layout ina GT cell can be easily 1dent1ﬁed usmg
: matrix. - SR : ‘

%)

(By

©

Singular‘
Character1st1c |
Ident1ca1 |

From-To

- Answer not known =

(E)
GTe @u ;F,ggg@é;a@mu@g
@) o fow o
(B gaws e’»amﬂ
o © @Mé@vﬂ |
(D) From-To siamil
® ‘am@_@g,mmmmm

CEMEIMZ ¢

¥ Vi sz 'ﬁ h

84 .

iafl epeLD 'Graﬂg,rrés é;edvrqﬁ]‘u_lebmb.



- 159. An iniage can be obtained by 2% D
' (A) sweep | ;
» (B) Rotational - _
) ‘Translational sweep
D) Rotatlonal sweep E
. ’(E) Answer not known | T

N @@le@ﬁﬂmy@mm@mmnga‘:lcm_asa;mma;a;mrrm o

(A)  eSsswp ' |

(B) &Q.gpéﬂ o
- (O) psitey cisserp G | |

{D) &gpgbﬁag#&mp). - | o - . e
(B aﬁlme‘Q‘;fﬂu_;aﬁlcbmq) ' , ' - : EE

160. A point [2, 4] is rotated counter clockw1se about Z axis by an rotatlon
angle of 90°, the resultant point is -'

\

@ -2
®) 2,4
© 2,4

‘/(D) 4, 2]

(E) Answer not knoWn

R qmaﬂ [2,4] Z &m&u Quryisgl. 90° swHA Ga;rrmg,g.]w Gr§lrr S EY Qm&u&\m |
, ‘&gpmmuu@aﬂmg oLy aﬁlmmeurra; au(pid Leaf) _ v

@ 4-2 ,

®) 2,4
© =4 el

(E) = oflen- Gg,iﬂu_laﬁld)méu

& & - CEMER022.
: | o _ . T [Turn over



161 If the MTBF of a system is 36 days and the MTTR is 3 days then the 'A |
ava11ab1hty of a system s , .

@)
(B)

./@)‘

@)
(E)

9.23
92.3
0.923

39 days =

Answer not knoWn .
|

ST iewLiGen MTBF <G 36 BrLser c‘gb&;equ) LHMILD MTTR @cbmgj 3 (r_r,rn_aserr-

®)
- (©)
(D)

(E)

CTGIDITED, DABS é{Gb‘)LDLlIﬁ]GbT é]em__a;@u) g,mmmu_lrrmg

9.23
92.3 -

0.923

39 pi sar
eflen_ Qg:ﬂu_:afﬂd)_mco o

162 In an engmeermg drawmg one ﬁrds the de51gnat10n of 20G7 18, the
' position of tolerance, of hole is 1ndlcated by , _

. ./‘A)
.(C)

o))
® |
QumdluSue @Jmug,e&w 20G7f8 . aram mmuuu@gguun_@mm@g,mﬂw gjmmuﬁlm,
CQuryd ahs QL @GRl Ll Deterg. _

@

®)
©
Ry

(B

 CEME/2022

Letter G -
Letter f

i Number 7

Number 8
Answer not known '

Twss G

awss f

i 7

eTawr 8

eflen Qg flweldame |




163. Temlinspu recorder is assoeiated with the rueesurement of,
(A)- Surfa‘ce flaws T : |
/(ﬂB)_ 'Sur%eee perpendicularity |
(C) Surface finish
D) Surface curvature o '

. (E) Answer not known

», L_rrwe&afr&m uﬁaﬁ]ggm GTETLIG! GTHS .aqmeﬁ@ &mupgmnmg.
@) sreepu

(B) ponQsmisa

© sorepain
(D) soweerey
(B) '.eﬂmugigﬂmaﬁld)m@

- 164. The most suitable device for measuring the temperature of furnace is

- (A) : Furnace Thermometer ' o
(B) Thermistor

‘,ee) ‘ Optieal Pyrometer‘

(D) Bimetallic thermometer

(B Answer not known
LIiTeTan G\muu;ﬂmwmm éucmaﬁh_ uSla;a.lLo Gurr@g,g,wrrm 5@@9\ ,
(A) LIfTGT6 ngrrCSLorr T
®) Gsideoi
- (C)  eefl @u(ﬁurr L8|}'_|_‘r'rb‘
(D) muQmLunaS]éi QgirGLom 8L it
(B e sfucidme

o R ,‘87u f S CEME/2022
' ~[Turn over



165. Whlch of the followmg is more accurate '
(A) Mechamcal comparator
‘/éB) "‘Optlcal pI'OJeCtOI' |
(C) ~Slip gauge
'(D)"- iVernier Caliper

(BE) Answer not known

o &@QU—JGH@T@J@QJQT Grgj .r&asmrb.gjl;lrlmnm@ ‘
@ @.wzbﬁ&éﬁlu;sb@uuﬁaﬁl'
B)  gofl HereSpssis smed
€) Aa csa;g N

D) Qeurefwi sredliL

B o Gstudeen

; 166 Inductlve pressure transducers have '
/(ﬁ) ngh sens1t1v1ty L
(B Sensitive to Vlbratlbh
© Better d‘Ynamic response
D) .Peor dynamic response
(E) | vAnsv/ver not known
e 255 DD Lorrm@m
A é!ﬁas 2 GmTienlD
B)  efitasamer 2_ammid Hper
(O Sppp@uisngudioy
H D) | @wn&wnm@u.w;a; Lfﬂr,@uaﬂuq e
- (E) - aﬂml_Qg,lﬂu_naS]mmw

CEME/2022 ,‘ L 88




167. A GofNoGo phig gauge is to be designed for measuring a hole of nominal

168..

diameter 25 mm with a hole of tolerance of + 0.015 mm considering 10%
of work tolerance to be gauge tolerance and no wear. Condition, the

~ dimensing Go plug gauge is

+0.003 +0.03

(A) 24.9857008. - (B) 24.985700
+0.000 ' +0.003

(C) 25-015-09% ))\ 94 . 9850-000

(E) Answer not known

- Auddsiul e Gar. Gur Gam e Gagy 25 1.8 eueny L 1b CameirL glanarufen

el Heusn@ siemeruder Gummdl + 0.015 8.5 Ceavener Qurmd) 10% wpmid Gyuiome
Bleanew @avene. Gar Gagller LMbraRT SieToumETS) . -

) +0.003 . : +0.03
(A 24.98570:008 (B) 24-9857%03
_ +0.000 , +0.003
(C) 25-0157%9% (D) 24-985700%

(E) Qe G_g,lﬂ@aﬁ]ei)msv

Name the direct measuring device used to measure the inner diameter of
the hole feature of the part ‘

A Télescopic gauge | /(B) Inside micrometer .
(©) Plug gauge , (D) Inside Caliper
(E) Answer not known |

@m Qurmailer o arer ganerulen Ber oA L Feng erammaemied CHiiguInE &érrés&é;&lqu_:

Sjarajwraflureg v
(A)  Blssmgu swred (B) edreflpésid st Siarayoref]
(C)  sw96d L swraf - (D) eerergdlw B omafl

(E) oL Asfudons

89 ~ CEME/2022
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169. The combination of slip gauges to obtain a dimension of 10.35 mm will
be

(A) 10.00 +0.30 + 0.05
A 800+1.30+1.05

(C) 10.00+0.35

(D) 5.00 + 4.00 + 1.00 + 0.35

(E) Answer not known

10.35 9.8 QumeugnE HeSLs Cagy Crisamasar %m@
(A) 1000+030+005
(B) 8.00+1.30+1.05
(C) 10.00 +0.35
(D) 5.00+4.00+1.00 +0.35
() ofe Gpfueiideme

170. Checking the diameter of a hole using Go and NoGo gauges as an
example of inspection by :

(A) Variable -
AB)  Attribute

(C) Manual

(D) Dimension

(E) Answer not khown

Gar Cagy wpmid Crr Car Cag Qa;rrsm@ glenerudlen aﬁ]l_l_g.é,]mm urﬂ@&rrﬁa;@m Gurrgj
Cengenamuen a@g;gja;esrrL_era; efleTriGeug)

(A)  wm

B) uensomp

C) ossemma

(D) ufwrewrd

(E) oo QsMweddane

CEME/2022 ' 90 , ()



171. Most ceramic tools are manufactured primarily from which of the
following oxide? - ’

ey
B
©

D)

(E)

Titanium oxide | )
Aluminium oxide | | ‘

Iron oxide

Magnesium oxide

Answer not known

Qubunerar Skismar Qeul () smelsdr ahs S EFg(Hhg SUTHEsLLOEDS?

(A)
(B)
©
(E)

L L ralwub A&
Si@iLfleflwiid AEDEH
Qo 2ss6
&aTef b S smsdH
eden Qg Mwellevene

172. Recrystallization temperature for alloys 1is approximately equal to

where Tm - melting temperature

@A)
- ®

/G )
- D)
(E)

10% of Tm
18% of Tm

50% of Tm

75% of Tm

Answer not known

saliy 2 Canshsaflar 2 H&EGD Qauliubena Tm <5 Q@HHsTD, Simeusaie LM
sL_Hwrer Hlenevenw 2 _GRTLTEHGLD Qeutiufleney GgrymuLons,

Tm - 2 m@E Gautiuflene

A)

(B)
(©)
D

(E)

10% of Tm
18% of Tm
50% of Tm
75% of Tm
enL QgMwellovena

91 . CEME/2022
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173. Deep hole drilling of small diameter, say 0.2 mm is done with

Eléctro-dis_charge machining by selecting the tool matefial as
(A) _coppef wire

(B) tungstén wire

(C) brass wire |

‘/(-D) tungsten carbide

(E) - Answer not known

s @opps lLn eder (0.2 mm) <ypgeer @ Electrical Discharge

Machine & uweTLESSILED sEedian tool material
(A) smiy snq

- (B) it a9
©)  Spgear siba

(D) e e smieu)

(E) aS]em_Gg,rﬂu_l@S]ebmsu

CEME/2022 . ' a . 92 E : ()]



174. The elastic modulus of glass fibers compared to that of plastics will be
‘/ﬁ) _greater by 50 times |
(B) lesser by 50 times
©) gréater by 25 times
(D) lesser by 25 times
(E) Answer not known

samenrmy @erpuder ereio Gamad QpSHuer @li@n Gung
(A) 50 LEIE &0 | |

(B) 50w iis Gopey

(C) 25 wLEE dsb

(D)  25wLmig Ge@pey

(E) oo GQsflwellevened

175. Identify an example of a triple covalent bond from the given
A Hydroge‘n | ’ ' |
(B) Methane
(C)  Carbon dioxide

'/ﬁ)) Nitrogen

(E) AnsWer not known

SpsrarrLcuhdler Gr‘r_'rg;q,u QueT pperny @eam s GamerLiHE 2Ty sar .
(A)  engpi g '

(B) BsCsen

(C) smiLemmL. Ysmev(d o

(D) epLlyger
(E) o9 Qzsfweicoene

@ = | 93 'CEME/2022
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176. Assertion (A) : Idéally vphase diagram will show the phase

relationship under equilibrium conditions, in which

‘there is continuous change with time.

"Reason(R) : Equilibrium may be approached by extremely slow

A)
(B)

)

D)

(E)

~ heating and cooling. So that if a phase change to

occur, Sufficient time is allowed

(A)1s True but (R) is False

Both (A) and (R) are True; and (R) is the correct explanatlon of (A)

(A) is False, (R) is True

Both (A) and (R) are True, but (R) 18 not the correct explanation
of (A)

Answer not known

2 mflunss samsed (A) - 8lpps L euepuLbneang) Fwblae Haaamwaaiear

Spwl L 2 paveus sramIs@n. @ sraiGursdd

AgrLiigflumrer IHOLD G)(HEE L.

smyewd (R) : Ffloamu Wls Qugers Qeuiutinu@sgse wHpib

A)
(B)
©
(D)

(B

CEME/2022

o @OmLLED aped DSSMTD. JIFEMD @5 S
orHOL . ghHulLTe, Gungimenr Criyd
S@dEs LGS
(A) 2amanw, gpammed (R) seuyy
(A Lomgum R) @Uamr@u) o agwenio; wHmid (R) eremuig (A) m&rﬂu_lrrarr eflerésd
(A) g,eugu (R) 2_amenwo
(A) wpmpib (R) @rar@ib 2_amenio; <pemed (R) erenmug (A) e sflwiran .aﬁlmésasl_b
ENTY ‘ 3

elenL Qg flwelevrenen

94 ' )



177. Which one of the following is an amorphous material?

| (A) Lead
./QB) Glass
(C) Brass
(D) Zinc

(E) | Answer not known

ﬂsﬁ@@umg’)@@ T8I (1 2 (HEUSLHDH GQUTHET?

(A srfun
B) sawawmg
(©)  Gppenar
D) sssprsn

(E) e Qg,rﬂu.:aﬁ]ei)cbm

178. In nodular iron, graphite 1s present in the form of

(A) Flakes
(B) Needles
(C) Powder

| ‘/®) Spheroids

(E) Answer not known

auansi creueiigions e HamenL eumrLibiBbLeD GBEGLD

A) Sad ageuns | -
(B) ead augeuns '

(C) srereugeuns

D) Cararab auqeuns

(E) ofer GzRwedldvencn

® o » 9% CEME/2022
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179. A 18/8 grade stainless st'eel contains | '
(A) 18% Carbon, 8% Chromium "@) 18% Chromium, 8% Nickel
(C) 18% Tungsten, 8% Nickel = (D) 18% Tungsten, 8% Chromium
(E) Answer not known | :
@® 18/8 ACr® sy 6515 oz Qa;rfaizsr@cimfésrrmgd ,
A 18% a;rrr'rudr'r 8% @CrmAwid (B) 18% @Crmalwib, 8% Hlésd
(C). 18% LievLer, 8% ﬁa;asev - (D) 18% LricvLa, 8% @CSUrruS]u_be,
(E) efen QsRwefcrena

180. Rankine cycle efﬁmency of a steam power plant would be in the range of
A 15-20% . ) 35-40%
(O 70-80% (D) 90-95%
(E) Answer not known

(1 ﬁ'}urraﬁl <UDDE D eaufen Griuengen sholen Smew @c:psmgj
CTEENEGET @)(FEHSHEMLD.

A)  15-20% (B) 35-40%
(C) 70-80% (D) 90-95%
(E) silleL Gz Mwelerane

181. At critical point, the enthalpy of vapourization is
(A) Dependent on temperature only
(B) Maxirhum
(C) Minimum
SO Zero
(E) Answer not known
&u_lu_lﬂma)ufﬂw (crltlcal point) gelurgealer GeuliL 2 aran_ssib

(4)  Qauiufleraerws L Hib sribgieTers;

(B). QuEBLoLD -
©) oowd - -
D) yguo

(E) &fen Qsfiwelerana

CEME/2022 96 - | B ()



182.

183.
' - 6Kg of nitrogen at the same temperature. The initial pressure of each

For a hyperbolic process between states 1 and 2, the heat interaction can
be given as, '

&) qa=0C (V - n)(Tz-Tl) ®) q=w
| 1-n |
© a=GMT) B a=C (FZ'T1)+RT11H(%)

(E) Answer not known

mvgm)ur'rurraﬂé; Qeuapople 12 @ran® HooseEnss Qo Cuwmar QeuLius
uflorHown? , _

| A q= Cv(}l/_n)'(Tz-Tl) B) g=»

© a=Ce(T>Ty | . D) a=Cy (Tz-ﬁ)‘*‘RTiln(—‘é—z)

1
(E) ofenL Qsfluefdeme
Find the increase in entropy when 2kg of oxygen at 60°C are mixed with

constituent is 103Kpa and is the same as that of the mixture
A) 123.14 KJ/Kg K |

B 12314 KIKgK
e

) 12.314 KJ/KgK
(D) 1231.4KJ/KgK
(E) Answer not known

60°C Qe 284 ‘éebé;eﬂgsin 684 eplrgaLe 26s Qaliuflawuld sa&EeUTE

aar-Crmiduder sfsfiemus s@rdlueyb. geauQaur@ 2 @Qurmeflar 4oL
<ipssh 103Kpa gysab swmeuden DipsssHDE soLMsa b B HEGLD. |
(A) 123.14 KJ/Kg K o '

(B) 1.2314 KJ/Kg K

(C) 12.314KJ/Kg K
(D) 1231.4 KJ/KgK
(E) e Qzsfueldrene

97 N 'CEME/2022
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184. Assertion (A) : - Water is not a pure substance
Reason (R) B The term pure substance designates a .
substance which is homogeneous and has
the same chemical composition in all
| ph-ases. | -'
(A) Both (4) and (R) are individually true and (R) is the correct
explanation of (A) . |

-

- (B) Both (A) and (R) are individually True but (R) is not the correct
explanation of (A) ‘

(C) (A) is true but (R) is false

D) (&) is false but (R) is true
-- (E) Answer not known -

gL | ST GTETLIE) S QuImmET Heve.

gmgemtd 1 ghw Cummer ereugl @Gy ellswrar (@@ UgssTen) Quﬁ@mmé;
| GP&EGW0. Cogid ader s ktsagd (Howsaligib) s Qummer

@Cr wrdfwrer Ceaudludwed swmeusmaTs QemeTia.(HEELD.
A)  s=pm HYID sryenTd @rarHid &f. sryewrd sapdler slwrer ederssn -
B)  &mpy wHmb sTramd @reTRL &, yeme 5&0%& gapien sflwner elerssid
DJOQ. |
(C) spm &, < ETTED SHTHERTLD Feugy.
D) spm seum, %@TH&) SeRTLD &1,

(E) e Qsfweddana
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185. If the operating temperature difference increases, the COP of a Carnot -
heat pump will '

"~ (A) Increase
) Decrease
(C) Remain Same
(D) Dec'rease'_ initially and increases
(E) Answer not known
e sram’ Qauliu Guéd (heat pump) Weér COP ez Geewa Geliuybd
Geuliuflana wTHLTE Sterey SIHSHOTETTED -
A) sifafssd
B Eopub
(C) wprg
D) o @opps G Sdsisen
(E) oo Qsfluelcened ‘

186. A gas is (:ompr'essed in a cylinder by a movable piston to a volume |
~ one-half its original volume. During this process, 300 Kd heat left the
gas and internal energy remained the same. The work done on the gas

~will be -
(A) 300 Nm | B 300000 Nm

(C) 150000 Nm (D) 3.00 Nm
(E) Answer not known ‘

@ 2-(peerudlé) 2 bl SMgem peld euafliotd SIPESILL[D DASET LI(HLOGH I%LDI_IT:::J@

phHSWLI U@Lbsarrré]aﬁlLL_g,j. @bs Qsuowpepde 300 KJ  Qaubd
- Qaueflefl L L gl 26T Qautiudper wrpmod @mbss cualogdar uamiisdper

@éueurm @ (HEGSLD- '
(A) 300 Nm - ~ (B) 300000 Nm-
(©) 150000 Nm | (D) 3.00 Nm

(E) oferr GOsflweierenen
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187. ‘Which one of the following is an intensive property of the system?

(A) Heat

(B) Work
‘/e) Temperature
(D) Volume

(E) Answer not known

£%pa;6&m_@_|g_bgsh, arereu Gleutiuedlwss é;mmul_cﬂei) Qem_ardlel LaRTLITEGLL?
(A)  Qeutib |

B) Geueme

© @@;uu@@

D)  sersiarey

(E) e Qsfweldama
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188. A control mass undergoes a process from state (1) to state (2) as shown
in figure, during the process, the heat transfer to the system is 200 kd. If
 the control mass returned adiabatically from (2) to (1) by another process ’
then the work interaction during the return process would be

P A

/m2 300 .

T 200 -

kN.

(A) 200
JB) —200
“o
(D) —400

(E) -Answer not known

o® 5. GUUIH Heop (1) dAobs (2)56 a6 Asudwen wab psidpg. b
Qewaqpempuier Gurg simwulnE 200 kdJ Qeutiun uflwrpliv@dogl. (2) Smbs!
(1)@ sL@uur@ Beop Hoowurar Geiiiu Aewdipamp gpaoid Fpidermed, Hmoy
Qewaapapuien Gung gHu@LD Caume Qg wduy (kN-m-e) '

P A
kN,'mz 300
T 200 -
100 -
1 2 3 V
. __é ms
(A) 200
B) -200
(C) 400
D) -400
(E) el Qsfluelvene , |
® | S | 101 R CEME/2022
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189. A certain water heater operates under steady flow conditions recelvmg
4.2 kgl/s of water at 75°C temperature, enthalpy 313.93 KJ/Kg. The
water is heated by mixing with steam which is supplied to the heater at
temperature 100.2°C and enthalpy 2676 KdJ/kg. The mixture leaves the
heater as liquid water at temperature 100°C and enthalpy 419 kd/kg.
How much steam must be supplied to the heater per hour?

AN 705 kg/h | - (B) 701 kg
(C) 703 kg/h - (D) 704 kg/h
(E) Answer not known
@@ GO ar i af’ i 75°C Q@uu‘rﬂmm erangreod 313.93 KJ/Kg -
4.2 dl/a ey Qugid Hlevawiner @ L Hevwemwsaien &P Quniedpg. Srredujan

sobg savelt GLISSLUGADG. @& Geuiorar 100.2°C HHID  eTTGTOL
2676 Kd/kg -& af L mé@ aphstiu@dng. Qs soeeuwireang abl L Madmbs
100°C Qautiuflevauder Sy Srraeayd erangrend 419 kJ/kg D EQLD @maﬂ@umeﬂmg
@ wanll CEr&HnE all L (HéE aaeuarey Brmed QUIPMISLILIL CSGU@W@LD’?

(A) 705kg/h - ~ (B) 701 kg/h
(C) 703 kg/h o (D) 704 kg/h
(E) el Qsfweferene '

190. The frictional torque trénsmitted by a place clutch is same as that of
/@) Flat collar bearing (B) Flat lc;ivot bearing
(C) Conical pivot bearing (D) Trapezoidal pivot bearing
(E) Answer not known | :
2M. 5.0 ems eogmiey Gguld sLFSLILED 2 gmiiey eflenagd(mLin
EDEFBTLUHMIET TEHE FLoLNE [IGEICT | '
A) 5.0 swss o moasTh B) 8.0 spais o moarsrd
© DL SLOES 2 (Hener g,rrréwﬂ. D) érﬂeua; FLPOES &@mm}g,rnéjaﬂ
(E) oflen Qzflweldene
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191. The minimum number ‘of teeth on the pinion in order to avoid -
interference for 20° stab system 1s '

(A)
©
(E)

12 D 14
17 _ , (D) 32
Answer not known

o 20° sloL ams Aflu upsssTEHNEG CamainLD G@DHSULE Lhsefen
eramafsamaLTalg GnESE @oomnned Quikis aeiauere) GHEED?

(A)
- (©)
(E)

)

12 (B) 14
17 (D) 32
e Qg flwelerene '
192. Self locking of worm gear happens when the efficiency of worm gear is
less than 50% - (B) greater than 50%
equal to 100% (D) equal to 54.55%

©

- (E) Answer not known |
o0 SEs Ldsssrsa Qeuadpen adame QEpET g STC ULl Bs

- Qanmeren (Self locking) ’
(A) 50% @mpeuns o (B) 50% =ifiswns
(C) sAwrs 100% 25 @méebeurg (D) sfuns 54.66% s Bm&E0nturg

(E)

e Qgflwelerena

193. When the belt 1s stationary, it is subjected to some tension, known as
initial tension. The value of this tension is equal to the - ‘

(A)

Sum of tensions in the tight side and slack side of the belt

D) Average tensions of the tight side and slack side of the belt

©
D)

Tension in the slack side of the belt

Tension in the tight side of the belt

(E) Answer not known |
L e wineng) Heowrs Qeaenlifger o ararGumg Sl gHUBL T &@‘&,‘e_ﬁb

TGl SLpS@TL_GUHDIET 6T

A

®)
©
o)
)

uleLuler Qmés oHoID  SerTa u@@a;@ésé\ml_@u_lu_mm <S|(pSSmsafien
. (N5E5Tms 7 o '
Bmiss wHHID FerTey ugﬁs@éeﬂml_@u_lm e Di(psshisafien syralfl

geniiey LGSIgIaTaT SiYSEEElET iAo

BoésiLESGgeT S19ssESE SHal

e Qgflwedeene -~ -
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194. A sliding bearing which can support steady leads without any relative
motion between the journal and the bearing is called

(A)  Zero film bearing
(B) Boundary lubricated bearing
(C) Hydrodynamic bearing |
\/D) Hydrostatic bearing
Answer not known

RO SNEG STHG 2 (FepeTwTes) Bleaowrer smwaw apgedls sridusspn
LHESEGD (girane) ShiE &@mma;@m @am_Gu_l @demoe Guikidenmed g6 Guiwim

(A)  ymhw séuey FriiE 2 mener
| (B) aébmeu@a;rrL@ 2 W SIS 2 (HEnaT
(C)  aant CrrenLemdlé SMaiE 2 (Hevar
(D) eap. Grrav_mg & s 2 mmevar
(E) o9en Qgrﬂmaﬂsi)msu |

195. In a transverse fillet welded joint, the size of weld is equal to
(A) 7 %xthroat Of_ weld

. (B) Throat

‘/QC) /2 x throat of weld
(D) 2 xthroat
(E) Answer not known
R(H GOISED &S Ll;bgp'mmé;a;uuLL QenemriGe Qﬁ)mmmuﬁ]m-ammnm@ [
FLOLONS @) (HEGLD.
A %x uﬁ)gpsbajésauuLL Qg merenL_ufer iemay

- (B) GQsrewen |

(C) 2x LDDEeUSSLILIL L Qg,rras'vrmLuﬁlsiﬁ Y
D) 2 xQgrawenL. '
(E) o&er QzMwelicrena
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196. MOI of a solid sphere of mass M and Radiﬁg R is given by

@ P R
M R? 3. 9
(€) 36 (D) EMR

(E) | Answer not known

e sa GarargSen (Reop M; <4y R) sggauflmrinfipen wrg

) . MR2 9 9 .
(A) 5 B) gMR
M R? | 3.

©) 26 | | D) gMR |

(E) e&er Qzfwefdene

197. Ina sprmg mass system if the mass of system is doubled and stiffness of
spring is halved, the nature frequency.

/QA) 1s halved
(B) isdoubled
(C) 1is four times
(D) remains unchanged
(E) Answer not known
@m . BLAsmeT-Hlem Siflireuentoifiey Hlenmenw @moLksTEaD
eflenpUL|SseenLoemil urr'é,]u_lrra;mm @Go’)g)g,g,m) Quipens agﬂﬁ@mm iy eriug.
rRU@LD
(A urfungto
B) @@ wLEsTED
(C) prenE LLBISTGD
D) Longprrmc&@é;@m
(E) eGer Gzsflwefcene
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198. Two beams are simply supported over the same span and have same
flexural strength. Find the ratio of weight of these two beams. If one of

'them are solid and the other is hollow with interval diameter half of the

external diameter

A) 1.08
(B) 0.98
(C) 0.88

D) 128

(E) Answer not known

(PPPDWITET  LHMHILD gdm?;gbm Q@ A Lisdr erefiemwowner aeapuler srhdl
Yy sstiul Haterg. Geveu QIEmaHGSD SWLLOTA cumer D6 2 6Terg). @m;j’)géﬁ
earefLpp eI LgHean edelipd, Qeefellsen urd eafle, Gaveu

@\ reiTig HESLDTEsT .rf;]mmuﬁlebr eHlfgLD eretmen?

(A) 1.08
~(B) 0.98
© 0.88
(D) 1.28

(E) ol Qsfluelcrens
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199. In a beam if the bending moment changes sign at a point, the point itself
having zero bending moment, this point is called '

(A) The point of contra flexure -
(B) The point of inflexion
(C) A virtual hinge
o) Allof the above
(E) Answer not known

amaray Hmuy Spefler auaerey Car® GHIUEG wrmb Gurgl, euwrey SmLiy Smei
UL yswib @D Leatellés ' TG SIEDLP&EENLD

(A) snam_Gpm Gerdeni

B) @an9Qasaducn

(€) Qe gfaud Hergs

D) Copsdu Siemensg D
‘ (E) oSenr Q‘Q}Iﬂbu_IQS]G'I)QDGD

200. The ratio of lateral strain to longitudinal strain is called
/QA) Poisson’s Ratio v
(B) Bulk Modulus
(C) Modulus of Rigidity
(D) Modulus of Elasticity
- (E) Answer not known

LSS () Hfly&Eid ﬁcrrmrrﬁ.@ HNLEGD 2_drar al&g0
(A) umisren &sD
| B) umw GawED
| (C) aSewpiiy Gawsd
D) B @eawran
(E) e QgMweiidene
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